
SJ Sportscars Limited Parts and Accessories Price List

SJ Sportscars Limited Price List

Official Lotus Heritage Dealer

Lotus House, Marsh End, Lords Meadow Industrial Estate
Crediton, Devon, EX17 1DN

UK: 01363 777790 / 01363 775276
International: +44(0)1363 777790 / +44(0)1363 775276

E-mail: sales@sjsportscars.co.uk

Web: http://www.sjsportscars.com/

Elan (1989 onwards)

Printed on 17/07/2025

All prices correct at time of download, in Euros and exclusive of sales tax.

Prices are based in British Pounds, currency conversion rates are subject to change. 

Page 1/55



SJ Sportscars Limited Parts and Accessories Price List

Body and Trim

Badges and decals

Description Unit Retail price Part number

NOSE BADGE EACH € 172.55 A100U0178F

BADGE SE EACH € 23.79 B100U0086F

BADGE,  LOTUS EACH € 57.50 B100U0201F

BADGE  ELAN EACH € 32.36 B100U0085F

DECAL S2 (Green/Silver) EACH € 24.63 A100U0551F

DECAL, S2 (Yellow/Silver) EACH € 24.63 A100U0550F

LABEL-SPARE WHEEL USAGE EACH € 5.28 B100U0057F

ANTI-CHIP FILM (Front lower part of L/H rear wing) EACH € 8.89 A100B2473K

ANTI-CHIP FILM (Front lower part of R/H rear wing) EACH € 8.89 A100B2472K

LABEL -  CAUTION HOT SURFACE EACH € 2.13 A100U0407F

ANTI-CHIP FILM (Rear of L/H sill) EACH € 7.71 A100B2471K

LABEL - (DO NOT JACK HERE) EACH € 17.83 A100U0252F

LABEL SPARE WHEEL (50MPH) EACH € 1.06 A100U0406F

LABEL - FUEL CUT OFF SWITCH EACH € 5.75 A082U7225F

DECAL - ACBC - GOLD EACH € 3.13 A007W6147Z

ANTI-CHIP FILM (Rear of R/H sill) EACH € 7.71 A100B2470K

WARNING LABEL for BATTERY EACH € 10.69 A075M6143F

DECAL - R/H SEAT BELT SEAL EACH € 9.46 A100V0622F

Body Seals

Description Unit Retail price Part number

INTERMEDIATE HOOD SEAL R/H EACH € 73.48 A100V0124F

A POST SEAL L/H EACH € 102.08 B100V0117F

A POST SEAL R/H EACH € 102.08 B100V0118F

SEAL DOOR MIRROR L/H EACH € 15.26 E100B0815F

INTERMEDIATE HOOD SEAL KIT  R/H KIT € 170.28 A100B6166S

INTERMEDIATE HOOD SEAL L/H EACH € 73.48 A100V0123H

HOOD HEADER RAIL SEAL  (up to vin M8161) EACH € 327.25 A100V0125H

OUTER DROP GLASS SEAL R/H (up to vin M 8161) EACH € 47.12 G100B0772F

HOOD STOWAGE COVER SEAL (M8161 on) EACH € 169.15 D100V0119F

OUTER DROP GLASS SEAL L/H (up to vin M 8161) EACH € 47.12 G100B0773F

HOOD SEAL, FALLING PILLAR L/H   (From M 8161) EACH € 116.62 C100V0121F

HOOD SEAL, FALLING PILLAR, R/H  (From M8161) EACH € 116.62 C100V0122F

TOP WINDSCREEN FINISHER EACH € 12.96 A100B0727F

FALLING PILLAR SEAL R/H (Prior vin M8161) EACH € 77.35 A100V0122F

FALLING PILLAR SEAL L/H  (Prior vin M8161) EACH € 77.35 A100V0121F

OUTER DROP GLASS SEAL R/H (From vin M 8161) EACH € 47.12 H100B0772F

OUTER DROP GLASS SEAL L/H (From vin M 8161) EACH € 47.12 H100B0773F

Page 2/55



SJ Sportscars Limited Parts and Accessories Price List

BRUSH SEAL STRIP, DOOR PANEL to GLASS Stuck to door panel using double sided tape. METRE € 6.65 B089V6166V

HOOD FRONT RAIL SEAL (from vin M8161) EACH € 327.25 B100V0125F

BOOT SEAL EACH € 21.52 B100V0079F

A POST SEAL CARRIER R/H EACH € 42.25 A100U0488F

A POST SEAL CARRIER L/H EACH € 42.25 A100U0487F

SEAL DOOR MIRROR R/H EACH € 15.26 E100B0816F

FALLING PILLAR SEAL KIT  R/H From vin number M8161  (Mid 1991) KIT € 128.52 C100B6190S

FALLING PILLAR SEAL KIT  R/H Prior vin number M8161  (Mid 1991) EACH € 153.51 A100B6190S

SEAL - FUEL FILLER NECK to BODY 2 per car. EACH € 6.97 B100L0085F

SEAL - STOWAGE LID INFILL L/H EACH € 15.91 A100V0613F

SEAL - STOWAGE LID INFILL R/H EACH € 15.91 A100V0614F

WEATHERSEAL SCUTTLE/BONNET EACH € 18.27 A100V0078F

FALLING PILLAR SEAL KIT KIT € 224.91 A100B6167F

CARRIER KIT for R/H INTERMEDIATE SEAL KIT € 106.29 A100B6166/1

Body sections

Description Unit Retail price Part number

INTERCOOLER MOUNTING DUCT L/H EACH € 153.00 SJ100B0001

FRONT UNDERTRAY EACH € 60.30 SJ100B0002

L/H 1/4  PANEL EACH € 86.36 SJ100B0007

R/H 1/4 PANEL EACH € 86.36 SJ100B0020

INNER BRACKET - A PANEL R/H LOWER EACH € 104.77 A100B0488K

NEOPRENE STRIP - Front bumper to 1/4 panels METRE € 10.78 A054B6110V

R/H SILL PANEL EACH € 90.44 A100B0164K

L/H REAR WING EACH € 113.05 A100B0239K

L/H DOOR ASSEMBLY EACH € 410.55 B100B0753J

L/H 1/4 PANEL for USA (No side repeater lamp) EACH € 58.31 C100B0963K

REAR TRANSOM PANEL    (Euro licence plate) EACH € 232.05 E100B0113J

R/H 1/4 PANEL for USA (No side repeater lamp) EACH € 58.31 C100B0964K

R/H REAR WING EACH € 54.57 A100B0238K

Bonnets

Description Unit Retail price Part number

BONNET RELEASE CABLE for R/H/D EACH € 17.85 D100B0461F

RUBBER BUFFER Bonnet stops. EACH € 1.84 X046B6113Z

BONNET EACH € 406.36 A100B0961J

BONNET PROP STOWAGE CLIP EACH € 4.11 A100B6047F

BONNET RELEASE CABLE L/H/D EACH € 25.01 D100B0460F

UNDER BONNET INSULATION  (Front section) EACH € 15.21 E100V0252F

SEAL - SCUTTLE PANEL to BONNET METRE € 15.73 A100B6039V

SCREW, BONNET RELEASE CABLE EACH € 1.18 A100W1105F

SCREW, FOR HOOD STOWAGE LID CABLE EACH € 1.18 A100W1105F

WEATHERSEAL SCUTTLE/BONNET EACH € 18.27 A100V0078F

Page 3/55



SJ Sportscars Limited Parts and Accessories Price List

SCREW M8 X 20 Bonnet catch slider to body. EACH € 1.18 A075W5095Z

GROMMET - BONNET RELEASE CABLE through BULKHEAD EACH € 1.18 A082U6197F

LEVER - BONNET RELEASE for R/H/D EACH € 4.69 A100B0463F

UNDER BONNET INSULATION (Main section) EACH € 86.81 E100V0253F

SCREW - STRIKER/LOCATION PLATE to BODY EACH € 0.64 A075W5079F

Boot / Tailgate

Description Unit Retail price Part number

RUBBER BUFFER Boot lid stops on some models. EACH € 1.84 X046B6113Z

RETAINING CLIP for DOOR and BOOT LOCKS EACH € 1.29 A100B0042F

THIN HEAD BOLT for TAILGATE GUTTER Stainless steel, for front wheel arch liners EACH € 1.37 SJ079U0027

ADJUSTABLE STOP for boot lid EACH € 15.24 A082U7290F

BOOT SEAL EACH € 21.52 B100V0079F

DOOR and BOOT LOCK BARREL for Series Two EACH € 9.39 SJ100B0014

BOLT - Boot catch to body EACH € 0.43 A075W1036Z

SCREW - Latch to boot lid EACH € 1.18 A076W5090F

BOLT - Hinge to boot lid EACH € 0.48 A075W1028Z

BOOT LATCH EACH € 16.49 A100U0036F

BOOT LID SPOILER EACH € 177.31 A100B0241K

1/4 TURN CAM BELT COVER CLIP (Male piece) FOR REAR LAMP COVERS EACH € 0.70 A075W6180F

BOOT LID EACH € 177.31 A100B0950S

Bumpers

Description Unit Retail price Part number

FRONT BUMPER NOT for USA cars. EACH € 469.98 SJ100B0005

FRONT RUBBER SPOILER LIP EACH € 38.97 B100B0502F

REAR BUMPER EACH € 260.99 SJ100B0015

CAGE NUT M6 - FRONT BUMPER to 1/4 PANEL EACH € 0.94 A117W6715F

HORN MOUNTING BRACKET EACH € 30.75 B100B0948F

GRILLE, REAR BUMPER EACH € 106.18 A100B0813F

CAGE NUT M6, wheel arch liner to duct. EACH € 0.68 A100W6362F

SCREW No 8 x 3/4 BLACK rubber spoiler lip to bumper EACH € 0.38 A075W5037Z

FITTING KIT for FRONT RUBBER SPOILER LIP KIT € 11.77 SJ100B0018

SHIM - REAR BUMPER MOUNT EACH € 5.28 A100B0731F

CAGE NUT, M8 Front bumper to duct. EACH € 0.77 A100W6363F

SCREW M5 x 25 PAN POZI BLACK Rear bumper lower fixings, 3 per car, not centre 2 EACH € 1.18 A082W5115F

SCREW - Rear bumper centre lower fixing EACH € 0.65 A075W5084F

M6 LOCKING NUT for OUTER BUMPER FIXING BRACKETS EACH € 1.18 A082W3085F

WASHER PLATE for SIDE FIXINGS of SPOILER LIP EACH € 14.53 A100B0700K

WASHER - BLACK REAR BUMPER LOWER FIXINGS EACH € 0.77 A082W4098F

WASHER PLATE for FRONT FIXINGS of SPOILER LIP EACH € 8.81 A100B0701K

CLAMP PLATE KIT for RUBBER SPOILER LIP EACH € 21.12 SJ100B0011

WASHER - FRONT BUMPER MOUNTING BRACKETS EACH € 0.86 B082W4018F

Page 4/55



SJ Sportscars Limited Parts and Accessories Price List

Carpets

Description Unit Retail price Part number

CARPET and TRIM GLUE   (1 LITRE TIN) LITRE € 29.52 SJ658

CARPET UNDERFELT  (Original Lotus Type) 60x50cm € 15.45 SJ075V0004

FOOT MAT SET (grey) SET € 58.38 LOTAC00029

FOOT MAT SET  (Red) SET € 58.31 LOTAC00030

MAT SET (Black) SET € 58.38 LOTAC00028

INSULATION for LEFT HAND INNER SILL EACH € 34.51 A100V0023F

Clamshells

Description Unit Retail price Part number

FRONT TOP-SHELL ASSEMBLY EACH € 710.95 SJ100B0006

SHIM - HEADLAMP MOUNTING EACH € 1.81 A100B0613F

Clips and fasteners

Description Unit Retail price Part number

DOOR LOCK BUTTON RED CLIP EACH € 5.46 A100B6151H

CAGE NUT M6 - FRONT BUMPER to 1/4 PANEL EACH € 0.94 A117W6715F

BOLT, WHEEL ARCH LINER to BODY (M6 thin head) EACH € 1.46 A075W1082Z

BONNET PROP STOWAGE CLIP EACH € 4.11 A100B6047F

DASH TOP COVER SCREW EACH € 0.86 A100W5177F

PLASTIC RIVET for DOOR BLANKING PANELS EACH € 0.79 A100W6470F

DOOR PANEL FIXING SCRIVET EACH € 0.90 A100W6481F

SPIRE CLIP for FUEL PUMP ACCESS COVER SCREWS EACH € 0.54 A100W6407F

WAVY WASHER for HOOD FRAME PIVOT BOLTS EACH € 1.73 A100B6285S

HOOD FRAME PIVOT BOLT (Long) EACH € 16.09 A100B6220S

SPECIAL NUT for HOOD FRAME PIVOT BOLTS EACH € 3.42 A100B6221S

CLIP, DOOR LOCK RODS to MECHANISIM EACH € 1.18 A100B6037F

SCREW, FRONT SIDE LAMP to BUMPER - St/Steel EACH € 0.50 SJ100W0002

SCRIVET FASTENER To fit hood stowage area plastic linings. EACH € 1.02 A100W6391F

PUSH FASTENER For A post seals. EACH € 0.69 A079W6159F

M6 RUBBER NUT for wheel arch liners. EACH € 0.89 A075W6140F

SCREW, OUTER DOOR SEAL to DOOR EACH € 0.42 A100W5130F

SOCKET SCREW M6 - Hood header rail trim to hood EACH € 1.05 A100W7096F

SCREW, HEADLAMP FIXING RING to PLASTIC MOUNTING EACH € 0.42 A100B1087F

CAGE NUT M6, wheel arch liner to duct EACH € 0.68 A100W6362F

SCREW No 8 x 3/4 BLACK rubber spoiler lip to bumper EACH € 0.38 A075W5037Z

FITTING KIT for FRONT RUBBER SPOILER LIP KIT € 11.77 SJ100B0018

CAGE NUT, M8 Front bumper to duct. EACH € 0.77 A100W6363F

SCREW M4 x 20 for FUEL FILLER PLATE EACH € 0.86 A075W5081F

FASTENER SOCKET EACH € 0.73 B100V6013F

RIVET M4 x 6.8mm PLASTIC B POST CAP to STEEL HINGES EACH € 0.69 A100W6483F

Page 5/55



SJ Sportscars Limited Parts and Accessories Price List

SCREW - REAR FIXING for WHEEL ARCH LINERS EACH € 0.63 A075W5040Z

SCREW - Latch to boot lid EACH € 1.18 A076W5090F

SCREW - Hood cover latch to brackets EACH € 1.18 A076W5090F

SCREW - Fuse box fixings EACH € 1.18 A076W5090F

SCREW - Headlamp pod infill panels to body EACH € 1.18 A076W5090F

SCREW - REAR LAMP FINISHERS to BODY EACH € 0.54 A100W5168F

SPIRE NUT No6 for Speaker mounting panel to doors EACH € 0.45 A100W6420F

SPIRE NUT No6 for Defrost vent fixings EACH € 0.45 A100W6420F

WASHER - BLACK REAR BUMPER LOWER FIXINGS EACH € 0.77 A082W4098F

SPIRE NUT - NUMBER PLATE PLINTH to BODY EACH € 0.54 A079W6024F

FIR-TREE FASTENER for SILL TRIMS EACH € 1.18 A100W6451F

BOLT - HEADLAMP POD PIVOT to MOUNTING PLATE EACH € 0.94 A100B0851F

SCREW - SPEAKER GRILLE FIXING EACH € 0.95 A085W5108F

SCREW M6 x 20 TUFLOK EACH € 0.94 A100B0854F

BOLT - INERTIA SWITCH MOUNTING EACH € 0.60 A079W2026F

WASHER - FRONT UNDERTRAY FIXING EACH € 0.86 B082W4018F

SNAPSAC - OPEN ENDED For A pillars and Sill Kick Plates EACH € 1.18 A100W6476F

CLIP, SELF ADHESIVE - CABLE FIXING EACH € 1.18 A100W6376F

Dashboards

Description Unit Retail price Part number

DASH TOP COVER SCREW EACH € 0.86 A100W5177F

BUMP STOP RUBBER - CDL Used as a spacer on bottom dash fixing EACH € 0.46 A082U6138F

EDGE STRIP METRE € 6.57 A085U6080V

SCREW - 16 mm, INSTRUMENT FINISHER to DASH PANEL EACH € 1.18 A100W5160F

CLOCK, DIGITAL EACH € 41.65 A100M0068F

RETAINER - GLOVEBOX LATCH EACH € 2.37 A100V6005F

Door handles

Description Unit Retail price Part number

BUTTON for INTERIOR DOOR LOCK EACH € 11.16 A100B0089F

SCREW, HANDLE ESCUTCHEON to DOOR EACH € 0.99 A100W5171F

R/H INTERIOR DOOR HANDLE EACH € 29.71 A100B0538K

EXTERIOR DOOR HANDLE RELEASE L/H EACH € 7.24 A100U6009F

EXTERIOR DOOR HANDLE RELEASE R/H EACH € 7.24 A100U6010F

REINFORCEMENT for GRAB HANDLE R/H EACH € 7.14 A100B0376F

REINFORCEMENT for GRAB HANDLE L/H EACH € 7.14 A100B0377F

EXTERIOR DOOR HANDLE PIVOT SHAFT EACH € 17.54 B100U0304F

CUP WASHER - FOR INTERIOR HANDLE ESCUTCHEON SCREW EACH € 0.54 A100W6453F

DOOR LOCK BUTTON RED CLIP EACH € 5.46 A100B6151H

KEY BLANK for SERIES ONE - DOORS AND BOOT EACH € 4.34 SJ100U0002

SCREW - DOOR OPENING LINK to BODY EACH € 0.64 A075W5079F

SCREW - DOOR LATCH to LEVER EACH € 0.64 A075W5079F

Page 6/55



SJ Sportscars Limited Parts and Accessories Price List

Door hinge parts

Description Unit Retail price Part number

DOOR HINGE PIN  (4 per car) EACH € 14.91 B100B0080F

DOOR HINGE BUSH EACH € 3.65 A100B6058F

CIRCLIP - DOOR HINGE PIN EACH € 1.18 A100B6001F

Door seals

Description Unit Retail price Part number

A POST SEAL L/H EACH € 102.08 B100V0117F

A POST SEAL R/H EACH € 102.08 B100V0118F

SEAL - CHEATER PANEL R/H EACH € 7.01 A100B0890F

SEAL - CHEATER PANEL L/H EACH € 7.01 A100B0889F

ADHESIVE TAPE for BRUSH SEAL METRE € 1.43 B100B6088V

Doors

Description Unit Retail price Part number

BUTTON for INTERIOR DOOR LOCK EACH € 11.16 A100B0089F

DOOR LATCH/CDL MECHANISIM R/H EACH € 347.10 B100B0094F

OUTER DROP GLASS SEAL R/H (up to vin M 8161) EACH € 47.12 G100B0772F

DOOR LOCK BUTTON RED CLIP EACH € 5.46 A100B6151H

OUTER DROP GLASS SEAL L/H (up to vin M 8161) EACH € 47.12 G100B0773F

SEAL - CHEATER PANEL R/H EACH € 7.01 A100B0890F

SEAL - CHEATER PANEL L/H EACH € 7.01 A100B0889F

OUTER DROP GLASS SEAL L/H (From vin M 8161) EACH € 47.12 H100B0773F

OUTER DROP GLASS SEAL R/H (From vin M 8161) EACH € 47.12 H100B0772F

BRUSH SEAL STRIP, DOOR PANEL to GLASS Stuck to door panel using double sided tape. METRE € 6.65 B089V6166V

FIXING SCRIVET - INTERNAL DOOR COVERS EACH € 1.06 A100W6479F

PANEL- DOOR CHEATER R/H EACH € 11.19 D100V0058F

PANEL- DOOR CHEATER L/H EACH € 11.19 D100V0059F

DOOR PANEL FIXING SCRIVET EACH € 0.90 A100W6481F

STRIKER PIN (on body) FOR DOOR LATCH EACH € 4.90 A100B0095F

CLIP, DOOR LOCK RODS to MECHANISIM EACH € 1.18 A100B6037F

DOOR and BOOT LOCK BARREL for Series Two EACH € 9.39 SJ100B0014

CLAMP PLATE for INNER DOOR TRIM TOP STRIP EACH € 26.61 C100B0630F

DOOR SKIN R/H  (Outer fibreglass skin only) EACH € 267.75 SJ100B0012

DOOR SKIN L/H  (Outer fibreglass skin only) EACH € 267.75 SJ100B0013

LIMIT SWITCH EACH € 6.74 C100B6065F

DOOR BEAM  L/H EACH € 148.75 E100B0219F

DOOR BEAM  R/H EACH € 148.75 E100B0220F

R/H INTERNAL HANDLE ESCUTCHEON EACH € 23.21 B100V0006F

L/H INTERNAL HANDLE ESCUTCHEON EACH € 23.21 B100V0005F

GUARD - DOOR WATER DRAINAGE EACH € 16.48 A100B2496K

Page 7/55



SJ Sportscars Limited Parts and Accessories Price List

SCREW, DOOR PANEL to DOOR EACH € 1.01 A100W5179F

RETAINING CLIP for DOOR and BOOT LOCKS EACH € 1.29 A100B0042F

M6 SCREW and BUILT IN WASHER for WINDOW GUIDES and MOTOR MOUNTING BRACKET EACH € 1.18 A100U6037F

PIVOT PIN for DOOR MIRROR GLASS EACH € 5.49 A100U6056S

CUP WASHER - FOR DOOR PANEL FIXING SCREWS EACH € 0.54 A100W6453F

REINFORCEMENT for DOOR PULL HANDLE EACH € 8.33 A100B0439F

R/H DOOR ASSEMBLY EACH € 410.55 B100B0752J

WASHER - DOOR LOCK BUTTON ESCUTCHEN to DOOR EACH € 0.86 B082W4018F

PANEL ASSEMBLY - DOOR SPEAKER L/H EACH € 71.73 C100B0199J

DUAL-LOCK (SELF ADHESIVE) CHEATER PANEL FIXING EACH € 3.18 A100V6034F

DOOR CHEATER PANEL ASSEMBLY L/H EACH € 39.15 A100V6105J

DOOR CHEATER PANEL ASSEMBLY R/H EACH € 39.15 A100V6106J

Exterior trim

Description Unit Retail price Part number

OUTER DROP GLASS SEAL R/H (up to vin M 8161) EACH € 47.12 G100B0772F

REAR NUMBER PLATE PLINTH (European) EACH € 112.84 SJ100B0017

HOOD STOWAGE COVER SEAL (M8161 on) EACH € 169.15 D100V0119F

CORNER CAP for WINDSCREEN TRIMS EACH € 11.13 A100B0661F

WIPER ARM NUT COVER EACH € 15.09 A082M6380F

OUTER DROP GLASS SEAL L/H (up to vin M 8161) EACH € 47.12 G100B0773F

TOP WINDSCREEN FINISHER EACH € 12.96 A100B0727F

HINGE for R/H B POST CAP EACH € 34.53 D100U0466F

FINISHER ABOVE L/H REAR LAMP EACH € 48.35 A100B0557K

FINISHER ABOVE R/H REAR LAMP EACH € 48.35 A100B0558K

FINISHER, WINDSCREEN SIDES EACH € 11.85 A100B0728F

HOOD FRAME PIVOT BOLT (Long) EACH € 16.09 A100B6220S

SPECIAL NUT for HOOD FRAME PIVOT BOLTS EACH € 3.42 A100B6221S

HOOD FRAME PIVOT BOLT (Short) EACH € 13.98 A100B6222S

WAVY WASHER for HOOD FRAME PIVOT BOLTS EACH € 1.73 A100B6285S

B POST TRIM CAP L/H (for late hinge type mounting) EACH € 20.03 C100U0259J

B POST TRIM CAP R/H (for late hinge type mounting) EACH € 20.03 C100U0260J

ANTI-CHIP FILM (Rear of L/H sill) EACH € 7.71 A100B2471K

A POST SEAL CARRIER L/H EACH € 42.25 A100U0487F

CLAMP PLATE for FUEL FILLER NECK EACH € 19.42 B100L0086F

PUSH FASTENER For A post seals. EACH € 0.69 A079W6159F

OUTER DROP GLASS SEAL L/H (From vin M 8161) EACH € 47.12 H100B0773F

SCREW, OUTER DOOR SEAL to DOOR EACH € 0.42 A100W5130F

SPRING for B POST CAP  (4 Per car) for B post caps held by two coil springs. EACH € 5.28 B100U0240F

OUTER DROP GLASS SEAL R/H (From vin M 8161) EACH € 47.12 H100B0772F

B POST TRIM CAP R/H (early twin coil spring/plastic hinge) EACH € 27.37 B100U0260J

B POST TRIM CAP L/H (early twin coil spring/plastic hinge) EACH € 27.37 B100U0259J

Page 8/55



SJ Sportscars Limited Parts and Accessories Price List

PERSPEX COVER for NUMBER PLATE EACH € 55.01 A100U0307F

RIVET M4 x 6.8mm PLASTIC B POST CAP to STEEL HINGES EACH € 0.69 A100W6483F

SPRING ANCHOR BRACKET for B POST CAP /LH EACH € 9.95 A100B0810F

SCREW - REAR LAMP FINISHERS to BODY EACH € 0.54 A100W5168F

SCREW - B Post cap hinge fixing EACH € 0.93 A075W5012F

A POST SEAL CARRIER R/H EACH € 42.25 A100U0488F

Grilles

Description Unit Retail price Part number

GRILLE in BUMPER (R/H) EACH € 33.97 B100B0524F

GRILLE in BUMPER (CENTRE) EACH € 57.80 B100B0522F

GRILLE in BUMPER (L/H) EACH € 33.97 B100B0523F

GRILLE, REAR BUMPER EACH € 106.18 A100B0813F

Grommets

Description Unit Retail price Part number

LARGE DIAMETER ACCESS GROMMET EACH € 11.42 X026B0371Z

GROMMET, AIR PIPE tho INNER WING EACH € 14.58 SJ100L0001

GROMMET, Air intake pipe through inner wing. EACH € 22.05 A100L0077F

GROMMET - BONNET RELEASE CABLE through BULKHEAD EACH € 1.18 A082U6197F

GROMMET for TOP DAMPER FIXING HOLES EACH € 0.81 A100B6127F

PLUG - HOLE BLANK EACH € 2.09 A100V6065F

Head lamp pods

Description Unit Retail price Part number

MODULE, HEADLAMP POD DELAY EACH € 26.32 B100M0110F

HEADLAMP INFILL PANEL R/H EACH € 18.00 SJ100B0003

HEADLAMP INFILL PANEL L/H EACH € 18.00 SJ100B0004

BOLT - HEADLAMP MOTOR MOUNTING EACH € 0.60 A079W2026F

HEADLAMP ADJUSTER SCREW EACH € 0.70 A100W5176F

SPRING for HEADLAMP ADJUSTERS EACH € 2.31 A100B6159F

STEEL HEADLAMP MOUNTING RING for L/H INNER LAMP EACH € 37.13 A100M0247F

STEEL HEADLAMP MOUNTING RING for R/H INNER LAMP EACH € 37.13 A100M0248F

STEEL HEADLAMP MOUNTING RING for L/H OUTER LAMP EACH € 37.13 A100M0249F

STEEL HEADLAMP MOUNTING  RING for R/H OUTER LAMP EACH € 37.13 A100M0250F

HEADLAMP LINK ROD (4 per car) EACH € 21.35 B100B1004F

PLASTIC DRIVE GEAR for HEADLAMP MOTORS Use in conjuction with SJ082M0033 EACH € 23.50 SJ082M0034

L/H HEADLAMP POD (From vin M 8212) EACH € 179.96 B100B1161S

OVERHAUL KIT for HEADLAMP MOTORS Includes drive rollers, gaskets, screws and instructions.

Sufficient for a pair of motors.

KIT € 35.22 SJ082M0033

SCREW HEADLAMP RING to POD (St/Steel) EACH € 0.69 A100W5173F

SCREW M6 x 12 TUFLOK MOTOR MOUNTING BRACKET to LONGERON EACH € 1.18 A100B0853F

LIMIT SWITCH EACH € 6.74 C100B6065F

Page 9/55



SJ Sportscars Limited Parts and Accessories Price List

PLASTIC MOUNTING RING for OUTER HEAD LAMPS EACH € 66.40 SJ567

SCREW, HEADLAMP FIXING RING to PLASTIC MOUNTING EACH € 0.42 A100B1087F

POD HINGE-POD SYSTEM EACH € 26.13 E100B0759F

R/H HEADLAMP LIFT MOTOR EACH € 172.55 A100B6064F

WASHER, M6 x 25 BLACK (Stainless steel) POD HINGE to BODY EACH € 1.18 A082W4131F

OUTER HEADLAMP MOUNTING ASSEMBLY EACH € 117.23 B100M0108F

INNER HEADLAMP MOUNTING ASSEMBLY EACH € 117.23 B100M0107F

SCREW - Headlamp pod infill panels to body EACH € 1.18 A076W5090F

PLASTIC MOUNTING RING for INNER HEAD LAMPS EACH € 66.40 SJ1013

WARNING LABEL - HEADLAMP LIFT MOTOR EACH € 18.50 A082U4698F

ROTARY LINK - HEADLAMP MOTOR for EARLY MODELS EACH € 33.03 E100B0298F

BOLT - HEADLAMP POD PIVOT to MOUNTING PLATE EACH € 0.94 A100B0851F

L/H HEADLAMP LIFT MOTOR EACH € 172.55 A100B6063F

POD FRAME ASSEMBLY L/H EACH € 57.12 E100B0573F

POD FRAME ASSEMBLY R/H EACH € 57.12 E100B0574F

SHIM - HEADLAMP MOUNTING EACH € 1.81 A100B0613F

Interior trim

Description Unit Retail price Part number

R/H SEAT PROTECTOR CAP EACH € 16.01 A100U0332F

KNOB, SEAT TILT RECLINE  (Early type) EACH € 9.03 A100U6012F

FIXING SCRIVET - INTERNAL DOOR COVERS EACH € 1.06 A100W6479F

PANEL- DOOR CHEATER R/H EACH € 11.19 D100V0058F

PANEL- DOOR CHEATER L/H EACH € 11.19 D100V0059F

DUAL-LOCK (SELF ADHESIVE) CHEATER PANEL FIXING EACH € 3.18 A100V6034F

INNER DOOR TRIM TOP STRIP R/H EACH € 9.33 B100B0846F

INNER DOOR TRIM TOP STRIP L/H EACH € 9.33 B100B0845F

HEADER RAIL TRIM and GRAB HANDLE for HOOD EACH € 168.28 B100V0245J

DASH BADGE MOUNTING PLINTH EACH € 11.52 A100U0261F

COVER, HOOD CATCH PLATE and SUN VISOR FIXINGS EACH € 6.95 D100V0153F

CLAMP PLATE for INNER DOOR TRIM TOP STRIP EACH € 26.61 C100B0630F

ROKUT RIVET Seat diaphragm to frame. EACH € 0.90 A079W6195F

HOOK for RUBBER SEAT BASE EACH € 0.83 A100U6059S

CARPET UNDERFELT  (Original Lotus Type) 60x50cm € 15.45 SJ075V0004

SOCKET SCREW M6 - Hood header rail trim to hood EACH € 1.05 A100W7096F

SPRAY ADHESIVE for TRIM WORK EACH € 13.08 SJ803

R/H INTERNAL HANDLE ESCUTCHEON EACH € 23.21 B100V0006F

L/H INTERNAL HANDLE ESCUTCHEON EACH € 23.21 B100V0005F

SUN VISOR PIVOT PIN obs EACH € 2.38 B100V0290H

PANEL ASSEMBLY - DOOR SPEAKER R/H EACH € 36.58 C100B0198J

SCREW, DOOR PANEL to DOOR EACH € 1.01 A100W5179F

HEADER RAIL - TRIMMED EACH € 92.82 A100V0262J

Page 10/55



SJ Sportscars Limited Parts and Accessories Price List

STRIKER for ARMREST EACH € 2.69 A100V6003H

LATCH for ARMREST EACH € 21.50 A100V6002H

SCREW M4 X 16mm Csk  Pozi Blk For sun visor fixing EACH € 0.73 A082W5109Z

SCREW M4 X 16mm Csk  Pozi Blk Tunnel top lid hinge to lid. EACH € 0.73 A082W5109Z

STEERING COUMN SHROUD SUPPORT STUD (Long) EACH € 33.42 A100U0280F

COLUMN SHROUD - UPPER (Black) EACH € 58.01 C100V0188J

STEERING COLUMN SHROUD - LOWER - ELAN S2 - BLACK EACH € 58.01 C100V0189J

CUP WASHER - FOR INTERIOR HANDLE ESCUTCHEON SCREW EACH € 0.54 A100W6453F

CUP WASHER - FOR DOOR PANEL FIXING SCREWS EACH € 0.54 A100W6453F

REINFORCEMENT for DOOR PULL HANDLE EACH € 8.33 A100B0439F

FIR-TREE FASTENER for SILL TRIMS EACH € 1.18 A100W6451F

SEAT COVER (Pair) Door panel inserts included PAIR € 827.05 SJ100V0001

GRILLE - REAR SPEAKER EACH € 6.77 A100M0124F

SEAT BASE CONVERSION KIT PAIR € 140.63 SJ100B0019

RUBBER GROMMET AROUND STEERING LOCK EACH € 2.08 B100V6061F

SNAPSAC - OPEN ENDED For A pillars and Sill Kick Plates EACH € 1.18 A100W6476F

DOOR CHEATER PANEL ASSEMBLY L/H EACH € 39.15 A100V6105J

DOOR CHEATER PANEL ASSEMBLY R/H EACH € 39.15 A100V6106J

Mirrors

Description Unit Retail price Part number

SEAL DOOR MIRROR L/H EACH € 15.26 E100B0815F

R/H DOOR MIRROR BODY for Series 1  (R/H/D)  (No glass) EACH € 113.05 A100U0497F

R/H DOOR MIRROR BODY for (L/H/D) EACH € 105.18 A100U0499F

SEAL DOOR MIRROR R/H EACH € 15.26 E100B0816F

DOOR MIRROR GLASS  (Convex) EACH € 67.41 A100U0205F

R/H DOOR MIRROR for Series 1  (L/H/D)   (inc. glass) EACH € 177.31 C100U0316F

DOOR MIRROR GLASS   (Flat) EACH € 67.41 A100U0204F

PIVOT PIN for DOOR MIRROR GLASS EACH € 5.49 A100U6056S

Miscellaneous

Description Unit Retail price Part number

AERIAL MAST EACH € 23.21 A100M0170S

TOUCH UP PAINT (Calypso red A23 and B03) EACH € 10.41 D075B6264F

LOTUS KEY RING EACH € 8.71 LOTPR00500

RUBBER BUFFER Bonnet stops. EACH € 1.84 X046B6113Z

SILICONE SEALER (BLACK) (RTV732) 300ml € 15.46 SJ600

WINDSCREEN BONDING KIT KIT € 33.20 SJ075B0008

TOUCH UP PAINT (Silk Red B07) EACH € 10.12 B082B6310F

TOUCH UP PAINT (Norfolk mustard) B05 EACH € 10.12 A082B6296F

CABLE for HOOD COVER RELEASE EACH € 18.45 C100B0605F

CABLE for FUEL FILLER FLAP RELEASE EACH € 24.26 C100B0607F

OIL COOLER MOUNTING DUCT EACH € 175.38 F100B0384K

Page 11/55



SJ Sportscars Limited Parts and Accessories Price List

WAVY WASHER for HOOD FRAME PIVOT BOLTS EACH € 1.73 A100B6285S

HOOD FRAME PIVOT BOLT (Long) EACH € 16.09 A100B6220S

SPECIAL NUT for HOOD FRAME PIVOT BOLTS EACH € 3.42 A100B6221S

HOOD FRAME PIVOT BOLT (Short) EACH € 13.98 A100B6222S

B POST TRIM CAP R/H (for late hinge type mounting) EACH € 20.03 C100U0260J

LATCH for FUEL FILLER DOOR EACH € 82.11 A082U6122F

LABEL - FAN WARNING EACH € 17.74 A100U6048F

B POST TRIM CAP L/H (for late hinge type mounting) EACH € 20.03 C100U0259J

ANTI-CHIP FILM (Rear of R/H sill) EACH € 7.71 A100B2470K

ANTI-CHIP FILM (Front lower part of R/H rear wing) EACH € 8.89 A100B2472K

ANTI-CHIP FILM (Front lower part of L/H rear wing) EACH € 8.89 A100B2473K

COVER, HOOD CATCH PLATE and SUN VISOR FIXINGS EACH € 6.95 D100V0153F

SILICONE SEALER (CLEAR) (RTV 732) 300ml € 16.65 SJ653

SCREW, BLACK COUNTERSUNK front door panel fixing EACH € 0.40 A075W5030Z

FOAM STRIP METRE € 1.90 A036B6221V

M6 LONG JACKNUT EACH € 2.49 A075W3034Z

GLASS FIBRE REPAIR KIT KIT € 20.94 SJ738

B POST TRIM CAP R/H (early twin coil spring/plastic hinge) EACH € 27.37 B100U0260J

B POST TRIM CAP L/H (early twin coil spring/plastic hinge) EACH € 27.37 B100U0259J

REPLACEMENT VIN PLATE EACH € 79.50 F075U1186K

GROMMET - BATTERY COVER FIXINGS EACH € 1.59 A082U6196F

BRACKET - B POST CAP HINGE R/H EACH € 9.95 A100B0809F

WARNING LABEL - HEADLAMP LIFT MOTOR EACH € 18.50 A082U4698F

CONNECTOR - A POST DRAIN PIPE  (If fitted) EACH € 1.69 A100B1138F

RETAINING CLIP - TOOL KIT EACH € 26.16 A100U0144F

GASKET - DOOR SPEAKER R/H  obs EACH € 5.95 A100B2500F

FILM TAPE for BODY JOIN LINE - A POST to R/H SILL EACH € 5.95 A100B1206F

FILM TAPE for BODY JOIN LINE - B POST to R/H SILL EACH € 5.95 A100B1210F

FILM TAPE for BODY JOIN LINE - A POST to L/H INFIL PANEL EACH € 7.14 A100B1203F

FILM TAPE for BODY JOIN LINE - A POST to R/H SILL EACH € 7.14 A100B1207F

FILM TAPE for BODY JOIN LINE - A POST to R/H INFIL PANEL EACH € 5.95 A100B1204F

FILM TAPE for BODY JOIN LINE - A POST to L/H SILL EACH € 7.14 A100B1205F

FILM TAPE for BODY JOIN LINE - B POST to L/H SILL EACH € 5.95 A100B1209F

DETACHABLE BOBBIN WASHER 10mm Bodyshell to chassis. EACH € 6.84 AX75B2252Z

DETATCHABLE BOBBIN M12 (Male) EACH € 19.81 AX75B2267F

DETACHABLE BOBBIN WASHER 12mm EACH € 10.41 AX75B2254Z

Pedal Box

Description Unit Retail price Part number

PEDAL RUBBER EACH € 8.31 A079J6001F

BUSH for BRAKE LAMP SWITCH MOUNTING EACH € 3.51 A089M6020F

PEDAL BOX ASSEMBLY for L/H/D models with AIR BAG EACH € 195.22 G100A0243F

Page 12/55



SJ Sportscars Limited Parts and Accessories Price List

Seat Belts

Description Unit Retail price Part number

SEAT BELT ASSEMBLY EACH € 102.64 F100U0048F

SEAT BELT EACH € 94.96 SJ100U0001

FLAT WASHER, 7/16 EACH € 0.57 A075W4005Z

Seats

Description Unit Retail price Part number

SPACER - SEAT RUNNER to FLOOR 12mm For Series Two EACH € 7.94 A100U0554F

SEAT SPACER 8.5mm For Series Two EACH € 11.40 A100U0555F

SPACER - SEAT RUNNER to FLOOR 25mm For Series One EACH € 11.65 A100U0149F

SPACER - SEAT RUNNER to FLOOR 29mm For Series One EACH € 12.41 A100U0150F

SEAT COVER (Pair) Door panel inserts included PAIR € 827.05 SJ100V0001

SEAT BASE CONVERSION KIT PAIR € 140.63 SJ100B0019

ADAPTOR - SEAT TILT KNOB Drive Washer, wheel to recline mechanism EACH € 10.21 A100U0300F

SEAT MOUNTING WASHER - STEPPED EACH € 5.45 B100B0076F

Soft top (hood)

Description Unit Retail price Part number

FALLING PILLAR SEAL KIT  R/H Prior vin number M8161 (Mid 1991) EACH € 153.51 A100B6190S

INTERMEDIATE HOOD SEAL L/H EACH € 73.48 A100V0123H

INTERMEDIATE HOOD SEAL R/H EACH € 73.48 A100V0124F

FALLING PILLAR SEAL L/H  (Prior vin M8161) EACH € 77.35 A100V0121F

HEADER RAIL TRIM and GRAB HANDLE for HOOD EACH € 168.28 B100V0245J

HEADER CATCH SHIM 3mm EACH € 8.66 A100U0269F

HEADER CATCH SHIM 2mm EACH € 6.56 A100U0270F

HEADER CATCH SHIM 1mm EACH € 9.27 A100U0271F

FALLING PILLAR SEAL KIT  R/H From vin number M8161  (Mid 1991) KIT € 128.52 C100B6190S

ADJUSTMENT SHIM - INTERMEADIATE SEAL EACH € 2.67 A100B6193S

ADJUSTMENT SHIM - HEADER RAIL SEAL (For left and right hand ends) EACH € 2.07 A100B6191S

CATCH PLATE on HEADER RAIL for SOFT TOP CATCH. EACH € 21.67 A100B0713F

INTERMEDIATE HOOD SEAL KIT  R/H KIT € 170.28 A100B6166S

FLAT WASHER M6 x12 HOOD COVER CATCH STRICKER to COVER EACH € 1.18 B100W4127F

SCREW - HEADER RAIL FIXING EACH € 1.18 A100W5166F

SCREW M6 X 20 Csk for front catch fixing EACH € 1.18 A100W5147F

FALLING PILLAR SEAL KIT KIT € 224.91 A100B6167F

CARRIER KIT for R/H INTERMEDIATE SEAL KIT € 106.29 A100B6166/1

HOOD SEAL, FALLING PILLAR L/H   (From M 8161) EACH € 116.62 C100V0121F

HOOD SEAL, FALLING PILLAR, R/H  (From M8161) EACH € 116.62 C100V0122F

WEBBING STRIPS for HOOD PAIR € 40.22 SJ1033

HOOD HEADER RAIL SEAL  (up to vin M8161) EACH € 327.25 A100V0125H

FALLING PILLAR SEAL R/H (Prior vin M8161) EACH € 77.35 A100V0122F

Page 13/55



SJ Sportscars Limited Parts and Accessories Price List

SOFT TOP  (BLACK) For Series One only EACH € 589.05 SJ100B0010

SOFT TOP (BLACK) SERIES 2 EACH € 589.05 SJ100B0022

Spoilers

Description Unit Retail price Part number

FRONT RUBBER SPOILER LIP EACH € 38.97 B100B0502F

FITTING KIT for FRONT RUBBER SPOILER LIP KIT € 11.77 SJ100B0018

WASHER PLATE for SIDE FIXINGS of SPOILER LIP EACH € 14.53 A100B0700K

WASHER PLATE for FRONT FIXINGS of SPOILER LIP EACH € 8.81 A100B0701K

CLAMP PLATE KIT for RUBBER SPOILER LIP EACH € 21.12 SJ100B0011

Wheel arch liners

Description Unit Retail price Part number

SCREW - REAR FIXING for WHEEL ARCH LINERS EACH € 0.63 A075W5040Z

Window lift mechanisms

Description Unit Retail price Part number

DOOR WINDOW LIFT MECHANISIM R/H we must have your old unit to repair, we have no exchange

units.

EXCHANGE € 178.50 B100B0078F

GLASS SLIDE MOUNTING BOSS 11.5mm EACH € 8.03 B100B0537F

CLIP, (Butterfly) GLASS to REGULATOR EACH € 10.12 A100B6271S

CENTRE SLIDE for WINDOW REGULATOR in RIGHT DOOR EACH € 6.56 A100B6210S

CENTRE SLIDE for WINDOW REGULATOR in LEFT DOOR EACH € 6.56 A100B6211S

GLASS SLIDE MOUNTING BOSS 7.5mm (one per door) EACH € 8.01 B100B0536F

SCREW, SLIDER to MOUNTING BOSS EACH € 0.48 A100W5136F

DOOR WINDOW LIFT MECHANISIM L/H we must have your old unit to repair, we have no exchange

units.

EXCHANGE € 178.50 B100B0079F

SPIGGOT for SLIDER BOSS (Through glass) EACH € 7.98 C100B0115F

UP-STOP CONE EACH € 17.52 A100B0817F

SLIDER BLOCK, DOOR GLASS GUIDE EACH € 13.21 B100B1097F

STEEL CARRIER for R/H  DOOR BRUSH SEAL EACH € 33.45 H100B0766F

STEEL CARRIER for L/H  DOOR BRUSH SEAL EACH € 21.72 H100B0765F

RUBBER WASHER for GLASS GUIDE PIN EACH € 1.01 B100B0535F

SCREW - SLIDER MOUNTING BOSS to GLASS EACH € 0.68 A100W7079F

ROLLER, DOOR GLASS GUIDE to CHANNEL EACH € 3.08 A100B1089K

BRUSH STRIP FOR DOOR GLASS SUPPORT PADS (inside door) EACH € 1.01 SJ100B0021

FLAT WASHER for M4 SCREW, WINDOW SLIDING BLOCK to BOSS EACH € 0.42 A075W4062F

TAPPING PLATE for UP-STOP CONE SCREW EACH € 18.87 A100B0436F

SCREW/WASHER  M6 x 25 Lower rear guide mounting bracket to door. EACH € 1.18 A100U6038F

SCREW, UP-STOP CONE to RETAINER EACH € 0.86 A089W5106F

SLIDER BOSS MOUNTING PLATE - L/H EACH € 33.32 A100B1233F

SLIDER BOSS MOUNTING PLATE - R/H EACH € 42.91 A100B1234F

WASHER, UP-STOP CONE to GLASS EACH € 1.18 A100B0749F

Page 14/55



SJ Sportscars Limited Parts and Accessories Price List

GROMMET - STEEL GUIDE PLATE to GLASS EACH € 1.25 A089U6135F

M6 SCREW and BUILT IN WASHER for WINDOW GUIDES and MOTOR MOUNTING BRACKET EACH € 1.18 A100U6037F

FRONT GLASS GUIDE CHANNEL R/H EACH € 158.73 B100B0838F

LOWER REGULATOR SUPPORT BRACKET R/H EACH € 13.99 E100B0049F

REAR UP-STOP PLATE EACH € 40.19 E100B0319F

FRONT UP-STOP PLATE EACH € 27.73 E100B0323F

REAR GLASS GUIDE R/H EACH € 98.02 D100B0840F

FRONT LOCKING  PLATE R/H EACH € 27.73 E100B0322F

WASHER - UP-STOP BRACKETS to DOOR EACH € 0.86 B082W4018F

SPACER - GLASS GUIDE to BRACKET EACH € 2.13 A100B1042F

Windscreens and glass

Description Unit Retail price Part number

WINDSCREEN   (Green tint) EACH € 451.01 C100B1124F

WINDSCREEN BONDING SPACER  (4 mm) EACH € 0.65 A075U0588Z

WINDSCREEN BONDING KIT KIT € 33.20 SJ075B0008

L/H DOOR DROP GLASS (Bronze Tint) EACH € 74.34 B100B0111F

DOOR GLASS L/H (Green Tint) EACH € 230.41 B100B1125F

DOOR GLASS R/H (Green Tint) EACH € 222.03 B100B1126F

TOP WINDSCREEN FINISHER EACH € 12.96 A100B0727F

FINISHER, WINDSCREEN SIDES EACH € 11.85 A100B0728F

WINDSCREEN   (Green tint) EACH € 451.01 C100B1124F

CORNER CAP for WINDSCREEN TRIMS EACH € 11.13 A100B0661F

WINDSCREEN   (Clear) EACH € 309.40 C100B0887F

FINISHER on LOWER WINDSCREEN EDGE EACH € 8.77 B082U7169F

Books

Lotus parts list

Description Unit Retail price Part number

LOTUS PARTS LIST  All models EACH € 192.26 G100T0325J

PARTS LIST for SERIES 1 with CATALYST EACH € 65.45 E100T0325Z

Other

Description Unit Retail price Part number

EVO MAGAZINE EACH € 1.79 LOT70M0027

THE LOTUS FILE  (William Taylor) EACH € 39.66 LOTMC0063

Workshop manuals

Description Unit Retail price Part number

WORKSHOP MANUAL EACH € 192.26 A100T0327J

WORKSHOP MANUAL for INJECTION SYSTEM   (EMK) EACH € 102.21 C100T0327J

Page 15/55



SJ Sportscars Limited Parts and Accessories Price List

WORKSHOP MAUNAL, ELECTRICAL SECTIONS All models EACH € 179.45 F082T0327J

WORKSHOP MANUAL for INJECTION SYSTEM   (EMJ) EACH € 94.62 B100T0327J

Braking

ABS components

Description Unit Retail price Part number

ABS MODULE - (DERM) (Drivers side ABS only) EACH € 165.40 A082M6446F

AIR BAG INFLATOR MODULE Forward discriminating EACH € 101.15 A082M6443F

Brake pads

Description Unit Retail price Part number

FRONT BRAKE PAD PIN and CLIP SET Axle kit € 5.85 SJ100J0025

FRONT BRAKE PAD SET AXLE SET € 26.78 SJ100J0002

REAR BRAKE PADS Axle set € 35.15 SJ100J0003

INNER PAD RETAINING CLIP    (1 Per Rear Caliper) EACH € 8.27 A100J6071S

FRONT PAD SET (EBC Greenstuff) EBC 'Green stuff' SET € 42.74 SJ100J0011

REAR BRAKE PADS (Lotus) EACH € 68.60 A100J6057S

REAR BRAKE PADS (EBC Greenstuff) Axle set € 53.00 SJ100J0034

FRONT BRAKE PAD SET   (EBC Yellowstuff) SET € 97.58 SJ100J0017

REAR BRAKE PAD SET   (EBC Yellowstuff) SET € 94.94 SJ100J0031

Calliper pistons

Description Unit Retail price Part number

FRONT CALIPER PISTON  (One per caliper) EACH € 22.55 SJ100J0014

REAR CALIPER PISTON   (RIGHT HAND) Exchange € 38.68 SJ100J0030

REAR CALIPER PISTON   (LEFT HAND) Exchange € 38.68 SJ100J0026

Calliper repair parts

Description Unit Retail price Part number

FRONT CALIPER SLIDING PIN KIT (One per caliper) Per side € 12.26 A100J6051S

FRONT CALIPER SEAL KIT (Axle set) This is an axle set, one kit is required per car. Axle set € 15.45 SJ100J0019

BLEED SCREW RUBBER CAP EACH € 0.54 SJ089J0016

BLEED SCREW for FRONT CALIPER EACH € 0.83 SJ100J0010

INNER PAD RETAINING CLIP    (1 Per Rear Caliper) EACH € 8.27 A100J6071S

REAR CALIPER SLIDING PIN KIT (One per caliper) Per side € 16.54 SJ100J0024

BLEED SCREW for REAR CALIPERS EACH € 0.87 SJ100J0023

REAR CALIPER SEAL KIT (One per caliper) One kit is required per caliper. KIT € 23.74 SJ100J0022

REAR CALIPER PISTON   (LEFT HAND) Exchange € 38.68 SJ100J0026

BANJO BOLT - HOSE to CALIPERS  (For use with original hoses) EACH € 5.18 SJ100J0009

REAR CALIPER PISTON   (RIGHT HAND) Exchange € 38.68 SJ100J0030

METAL CAP for FRONT CALIPER SLIDING PIN EACH € 1.05 SJ100J0029

Page 16/55



SJ Sportscars Limited Parts and Accessories Price List

REAR CALIPER HARDWARE KIT Axle set € 46.41 SJ100J0033

HANDBRAKE LEVER RETURN SPRING EACH € 3.09 A100J6065S

SEAL and CAP KIT for FRONT CALIPER SLIDING PINS (One per caliper) KIT € 8.97 A100J6061S

ACTUATOR SCREW and NUT R/H EACH € 19.62 A100J6068S

ACTUATOR SCREW & NUT RH (LH THREAD) EACH € 19.62 A100J6067S

Callipers

Description Unit Retail price Part number

FRONT BRAKE CALIPER L/H (new) EACH € 166.56 B100J6001F

FRONT BRAKE CALIPER R/H EACH € 118.01 B100J6002F

RECONDITIONED L/H FRONT CALIPER Exchange € 117.22 SJ100J0007

RECONDITONED R/H FRONT CALIPER Exchange € 117.22 SJ100J0008

R/H REAR CALIPER EACH € 450.37 B100J6007S

RECONDITIONED R/H REAR CALIPER Exchange € 160.65 SJ100J0021

RECONDITIONED L/H REAR CALIPER Exchange € 160.65 SJ100J0020

FRONT CALIPER MOUNTING BOLT EACH € 2.86 A100J6022F

REAR CALIPER MOUNTING BOLT (Pair) PAIR € 5.36 SJ100J6023

REAR CALIPER R/H  (Lotus)  obs EACH € 267.75 A100J6063S

REAR CALIPER L/H  (Lotus)  obs EACH € 267.75 A100J6064S

TOOL, SLIDING SLEEVE CAP EACH € 53.55 T000T0986F

Discs

Description Unit Retail price Part number

FRONT BRAKE DISC EACH € 28.50 SJ100J0004

REAR BRAKE DISC EACH € 385.99 B100J0008F

SCREW, FRONT BRAKE DISC RETAINING St/Steel EACH € 0.50 SJ100J0005

PAIR HIGH PEFORMANCE FRONT BRAKE DISCS Grooved & spot drilled discs, zinc plated for

added corrosion protection.

PAIR € 186.79 SJ100J0012

REAR BRAKE DISC  (SJ Sportscars) EACH € 104.72 SJ100J0028

REAR BRAKE DISC EACH € 385.99 B100J0008F

FRONT BRAKE DISC   (Lotus original part) EACH € 65.45 A100J6003F

Handbrake cables and linkages

Description Unit Retail price Part number

GRIP for HAND BRAKE LEVER EACH € 13.08 A079J6050F

REAR CALIPER SEAL KIT (One per caliper) KIT € 23.74 SJ100J0022

HANDBRAKE COMPENSATOR EACH € 23.53 B100J0015F

HANDBRAKE CABLE (Two required per car) EACH € 45.82 D100J0022F

HANDBRAKE LEVER RETURN SPRING EACH € 3.09 A100J6065S

HANDBRAKE LEVER EACH € 101.20 B100J0179F

MICRO SWITCH for HAND BRAKE WARNING LAMP EACH € 7.47 A100J6073F

BOLT - HANDBRAKE LEVER MOUNTING EACH € 0.45 A075W2040Z

HANDBRAKE CABLE for use with VERY LATE CALIPERS EACH € 46.97 A100J6114S

Page 17/55



SJ Sportscars Limited Parts and Accessories Price List

Hoses and pipes

Description Unit Retail price Part number

FRONT BRAKE HOSE   (Lotus) EACH € 38.39 A100J0025F

REAR BRAKE LIMITING VALVE EACH € 118.62 A082J4495F

St/Steel BRADED BRAKE LINE SET (6 HOSES) EACH € 98.27 SJ100J0006

REAR BRAKE PRESSURE LIMITING VALVE KIT KIT € 229.67 SJ100J0018

BRAKE PIPE - REAR WISHBONE LINK R/H EACH € 11.40 B100J0097F

SILICONE BRAKE FLUID (1/2 Litre bottles) 1/2 LTR € 30.93 SJ685

BANJO BOLT - HOSE to CALIPERS  (For use with original hoses) EACH € 5.18 SJ100J0009

REAR BRAKE HOSE, WISHBONE to CALIPER  (Lotus) EACH € 28.16 C100J0026F

REAR BRAKE HOSE, CHASSIS to WISHBONE  (Lotus) EACH € 25.76 A100J0027F

BRAKE HOSE RETAINING CLIP EACH € 2.36 A100J6039F

P CLIP for NEW TYPE BRAKE LIMITING VALVES EACH € 5.55 A082W6579F

M10 x 1mm MALE BRAKE PIPE NUT (long) EACH € 0.42 SJ708

M10 x 1mm FEMALE BRAKE PIPE NUT EACH € 0.45 SJ709

CLIP, BRAKE PIPE to chassis EACH € 0.80 A075J6027Z

COPPER WASHER for BRAKE HOSE UNIONS EACH € 0.31 A100J6038F

FRONT BRAKE HOSE    (SJ Sportscars) EACH € 17.73 SJ100J0035

REAR BRAKE HOSE, CHASSIS to WISHBONE  (SJ Sportscars) EACH € 10.59 SJ100J0037

REAR BRAKE HOSE, WISHBONE to CALIPER  (SJ Sportscars) EACH € 10.59 SJ100J0036

CLIP-PIPE SUPPORT (2 WAY) EACH € 1.18 A100J6044F

M10 x 1mm MALE BRAKE PIPE NUT (Standard length) EACH € 0.35 SJ847

BRAKE HOSE LOCK NUT M10 x 1  (THIN NUT) EACH € 0.51 A075J6017Z

BRAKE PIPE - UNION to R/H/F BRAKE HOSE EACH € 11.61 B100J0094F

BRACKET - LEFT HAND BRAKE HOSE to TOP WISHBONE EACH € 22.02 A100J0049F

BRACKET - RIGHT HAND BRAKE HOSE to TOP WISHBONE EACH € 22.02 A100J0050F

BRAKE PIPE - REAR WISHBONE LINK L/H EACH € 11.40 B100J0096F

BRAKE PIPE JOINER   (Male - Male) EACH € 5.06 A089J6013F

BRAKE PIPE - ELAN, BRAKE VALVE EACH € 6.66 A082J4493F

BRAKE PIPE ELAN, BRAKE VALVE EACH € 4.46 A082J4494F

BRAKE PIPE -  R/H REAR CONNECTOR to LIMITING VALVE EACH € 9.51 B100J0082F

Master Cylinders

Description Unit Retail price Part number

RESERVOIR for BRAKE MASTER CYLINDER EACH € 24.12 E100J0009F

BRAKE MASTER CYLINDER for R/H/D An excellent replacment cylinder. EACH € 101.98 SJ100J0015

BRAKE MASTER CYLINDER (RHD) EACH € 208.69 A100J6048S

Pad fittings

Description Unit Retail price Part number

FRONT BRAKE PAD PIN and CLIP SET Axle kit € 5.85 SJ100J0025

Servo's

Page 18/55



SJ Sportscars Limited Parts and Accessories Price List

Description Unit Retail price Part number

NON - RETURN VALVE for SERVO EACH € 6.19 A100J6017F

Chassis

Chassis

Description Unit Retail price Part number

CHASSIS for Series 1  obs EACH € 2,878.76 C100A0897F

CHASSIS M100 (SERIES 2)   obs EACH € 2,822.32 F100A0897F

Chassis components

Description Unit Retail price Part number

BOLT, M12 x 70 FRONT UNDERFRAME FIXING (4 per car) EACH € 3.38 A100W2110F

BOLT M12 x 53 LONGERON to CHASSIS EACH € 16.24 B100A0438F

R/H LONGERON EACH € 359.34 K100A0320F

L/H LONGERON EACH € 150.67 K100A0319F

TOWING EYE STRUT EACH € 92.82 B100A0635F

BOLT, M12 x 75 UNDERFRAME REAR FIXING EACH € 2.65 A075W2071F

RETAINING BAND - POWER STEERING PIPE to CHASSIS EACH € 0.80 A100W6411F

LABEL - (DO NOT JACK HERE) EACH € 17.83 A100U0252F

CLAMP - POWER STEERING PIPE to CHASSIS EACH € 1.01 A100W6412F

CHASSIS LOAD SPREADING KIT KIT € 31.56 A100A0965S

SHIM - LONGERON EACH € 0.95 A100A0806F

SHIM - LONGERON 0.5mm EACH € 0.95 A100A0916F

REPLACEMENT VIN PLATE EACH € 79.50 F075U1186K

BOLT - DRI LOC M12 X 77 THIN HEAD Raft to longeron EACH € 6.43 A100C0074F

THIN HEAD BOLT,  STRUT to UNDERFRAME EACH € 3.17 A100C0083F

BOLT M8 x 75 RAFT MOUNTING PLATE to RAFT EACH € 2.98 A100C6027F

BOLT to FIX CATALYTIC CONVERTER HEAT SHEILD to CHASSIS EACH € 0.54 A100S0021F

SPECIAL BOLT - LONGERON to CHASSIS EACH € 3.15 B100A0439F

BOLT M10 x 30 REAR BULKHEAD to CHASSIS EACH € 0.90 A100A6028F

BOLT - Y STRUT to LOWER RADIATOR FRAME EACH € 0.82 A075W1035Z

SPACING WASHER for UNDERTRAY REAR FIXING BOLTS EACH € 0.65 A075W4028Z

R/H ENGINE MOUNTING BRACKET EACH € 131.00 B100A0370F

SCREW M10 X 65mm HEX PRECOTE EACH € 2.68 A100A6025F

BOLT - V Strut fixing EACH € 0.89 A075W7006F

BRACKET, FAN MOUNTING TOP EACH € 9.52 B100A0490F

Clutch

Cable

Page 19/55



SJ Sportscars Limited Parts and Accessories Price List

Description Unit Retail price Part number

CLUTCH CABLE   For Right hand drive EACH € 48.79 C100Q6008F

CLUTCH CABLE  for  LEFT HAND DRIVE EACH € 51.28 C100Q6007F

RUBBER SLEEVE for CLUTCH CABLE MASS DAMPER EACH € 14.24 A100Q0008F

MASS - CLUTCH  CABLE EACH € 25.95 A100Q0007F

Center plates

Description Unit Retail price Part number

CLUTCH CENTRE PLATE, (Non Turbo) EACH € 42.78 A100Q6002F

CLUTCH CENTRE PLATE (For SE Turbo) EACH € 182.39 A100Q6003F

Miscellaneous

Description Unit Retail price Part number

SPRING, CLUTCH RELEASE BEARING EACH € 6.46 A100Q6014S

CLUTCH ALIGNING TOOL KIT € 23.50 SJ853

R CLIP for CLUTCH PEDAL CLEVIS EACH € 0.54 A085W6208F

Pressure plates

Description Unit Retail price Part number

PRESSURE PLATE, NON TURBO EACH € 19.44 A100Q6009F

CLUTCH PRESSURE PLATE (For SE Turbo) EACH € 167.90 A100Q6011F

BOLT EACH € 3.95 B100F6058F

Release bearings

Description Unit Retail price Part number

CLUTCH RELEASE BEARING (All models) EACH € 58.31 A100Q6013S

SPRING, CLUTCH RELEASE BEARING EACH € 6.46 A100Q6014S

Spigot bearings

Description Unit Retail price Part number

SPIGGOT BEARING SLEEVE EACH € 17.67 A100E6248S

Three piece clutch kits

Description Unit Retail price Part number

COMPLETE CLUTCH KIT KIT € 211.82 SJ100Q0001

Competition, Modification and Accessories

Accessories

Description Unit Retail price Part number

TOUCH UP PAINT (Ruby red B23) EACH € 17.92 A082B6306F

LOTUS KEY RING EACH € 8.71 LOTPR00500

ADHESIVE LOTUS LOGO, 280mm EACH € 6.69 LOTDS00003

Page 20/55



SJ Sportscars Limited Parts and Accessories Price List

GEAR KNOB   (MOMO) EACH € 92.81 SJ100F0001

FOOT MAT SET (grey) SET € 58.38 LOTAC00029

TOUCH UP PAINT  (Pacific Blue B08) EACH € 10.41 D082B6173F

TOUCH UP PAINT (British Racing Green A65) 10ml € 9.19 B082B6171S

TOUCH UP PAINT (Norfolk mustard) B05 EACH € 10.12 A082B6296F

TOUCH UP PAINT  (Pacific blue A68) EACH € 10.12 C082B6173J

TOUCH UP PAINT (Medina green B18) EACH € 8.93 A082B6301F

MOBIL 1 10/60  (5 Litres) 5 LITRES € 61.80 SJ686

TOUCH UP PAINT  (Mediterranean blue A32 and A52) EACH € 12.23 C082B6126J

TOUCH UP PAINT (Azure blue) B20 EACH € 10.12 A082B6303F

LOTUS SELF ADHESIVE LOGO 50mm EACH € 4.11 LOTDS00001

TOUCH UP PAINT (Aqua blue B06) EACH € 12.23 A082B6309F

LAPEL BADGE - BLACK and SILVER EACH € 23.54 LOTPR00451

TOUCH UP PAINT (Calypso red A23 and B03) EACH € 10.41 D075B6264F

TOUCH UP PAINT  (Metalic black B13) EACH € 8.93 A082B6313F

TOUCH UP PAINT (British Racing Green B04) EACH € 10.12 D082B6146F

TOUCH UP PAINT (Black) B02 EACH € 10.12 A082B6295F

CASTROL EDGE 10/60 ENGINE OIL  (1 Litre) 1 Litre € 16.96 SJ704

TOUCH UP STICK (Clear lacquer) EACH € 10.41 B076B6069S

BATTERY TRICKLE CHARGER EACH € 53.01 SJ1047

TOUCH UP PAINT  (Claret red A62) EACH € 10.12 C082B6145J

LOTUS SELF ADHESIVE LOGO 100mm EACH € 4.46 LOTDS00002

TOUCH UP PAINT (New mustard or lightning yellow B36) EACH € 19.31 A082B6383S

TOUCH UP PAINT (Ice blue B87) EACH € 10.12 A082B6389F

TOUCH UP PAINT (Vulcan Grey A67) EACH € 12.23 B082B6172S

TOUCH UP KIT (SILK RED A73) KIT € 10.12 B100B6274J

TOUCH UP PAINT (Empire green metalic) B16 EACH € 17.48 A082B6299F

CAR CLEANING KIT BAG € 70.81 SJ715

TOUCH UP PAINT (Silver frost A45) EACH € 10.12 C082B6091J

TOUCH UP PAINT (Steel blue A59) EACH € 8.93 C082B6133J

TOUCH UP PAINT (Racing green B29) EACH € 8.93 A082B6342F

DISCARNECT BATTERY SWITCH EACH € 8.28 SJ723

TOUCH UP PAINT (Midnight blue Metalic B42) EACH € 10.41 A082B6308F

TOUCH UP KIT, MONACO WHITE (A21) EACH € 10.12 B050B6237S

TOUCH UP PAINT (Ardent red B94) EACH € 10.71 A082B6400F

MODEL LOTUS 19    -  1/48 SCALE EACH € 45.70 9580006902580

TOUCH UP PAINT (Palacio  B19) EACH € 12.23 A082B6302F

KEY BLANK for SERIES TWO - DOOR and IGNITION EACH € 4.63 SJ100U0003

FOOT MAT SET  (Red) SET € 58.31 LOTAC00030

EMBROIDERED LOTUS LOGO EACH € 41.65 LOTDS00125

LAPEL BADGE-GREEN/YELLOW EACH € 12.99 LOTPR05229

LAPEL BADGE-OLD GREEN/YELLOW EACH € 20.36 LOTPR00450

Page 21/55



SJ Sportscars Limited Parts and Accessories Price List

TOUCH UP PAINT (METALLIC QUARTZ B89) EACH € 10.12 A082B6391F

BATTERY TERMINAL COVERS (PAIR - RED and BLACK) PAIR € 6.55 SJ874

TOUCH UP PAINT (Racing green metalic B86) EACH € 10.71 A082B6388F

TOUCH UP STICK (B.R.Green A63) EACH € 10.12 B082B6146S

TOUCH UP PAINT (Nautilus Blue B61) 10 ml € 10.12 B082B6347F

MAT SET (Black) SET € 58.38 LOTAC00028

WD40 200ML AEROSOL 200ML € 5.94 WD40

THERMAL BOTTLE EACH € 13.08 LOTAC05577

LOCKING WHEEL NUT SET (OZ Wheels) SET € 14.28 SJ100G0002

EMIRA SCALE MODEL 1/18 EACH € 109.09 LOTMC0039BL

LOTUS SKI JACKET SIZE SMALL EACH € 41.65 LOTCL05648

ADHESIVE LOTUS LOGO, 200mm EACH € 10.36 LOTDS00005

SHOULDER PAD - RED EACH € 8.28 LOTAC05125

LOTUS EMIRA MODEL SHADOW GREY EACH € 54.54 LOTMC0035SGY

Body

Description Unit Retail price Part number

LENS, CLEAR for SIDE and INDICATOR LAMP   (Pair) PAIR € 44.03 SJ100M0002

ALUMINIUM PEDAL PADS   (Pair) PAIR € 47.60 SJ079U0089

FRONT SIDE/INDICATOR LAMP - CLEAR LENS  (PAIR) PAIR € 336.77 SJ100M0001

Lotus official merchandise

Description Unit Retail price Part number

LOTUS KEY RING EACH € 8.71 LOTPR00500

LOTUS 70th ANNIVERSARY POSTER EACH € 1.49 LOT70M0001

LOTUS 70th ANNIVERSARY MAGAZINE EACH € 3.53 LOT70M0002

MENS POLO - GREY (MEDIUM) EACH € 30.35 LOTMC0001GY2

MENS POLO - GREY (XXL) EACH € 30.35 LOTMC0001GY5

MENS POLO - GREY (LARGE) EACH € 30.35 LOTMC0001GY3

MENS TEE - GREEN (LARGE) EACH € 27.37 LOTMC0002GN3

EMIRA SCALE MODEL 1/43 N GREY EACH € 54.54 LOTMC0035NGY

MENS POLO BLACK XXXL EACH € 44.63 LOTMC0068BK6

MENS POLO GREY L EACH € 44.63 LOTMC0069GY3

MENS POLO GREY XXXL EACH € 44.63 LOTMC0069GY6

Performance up-grades

Description Unit Retail price Part number

REAR SILENCER - SPORTS  (Stainless steel) EACH € 273.05 SJ100S0006

ITG PERFORMANCE AIR FILTER ELEMENT EACH € 41.11 SJ100E0004

PLUG LEAD SET (MAGNECORE) KV85 race quality lead set. Turbo models only SET € 117.18 SJ100E0007

CLEANING KIT for K & N AIR FILTERS KIT € 20.09 SJ719

FULL CABLE KIT for GEAR CHANGE for SERIES ONE KIT € 237.76 SJ100F0003

FRONT BRAKE PAD SET   (EBC Yellowstuff) SET € 97.58 SJ100J0017

Page 22/55



SJ Sportscars Limited Parts and Accessories Price List

REAR BRAKE PAD SET   (EBC Yellowstuff) SET € 94.94 SJ100J0031

Suspension and brakes

Description Unit Retail price Part number

HIGH PEFORMANCE FRONT PAD SET (EBC Redstuff) SET € 59.44 SJ100J0027

St/Steel BRADED BRAKE LINE SET (6 HOSES) EACH € 98.27 SJ100J0006

FRONT PAD SET (EBC Greenstuff) EBC 'Green stuff' SET € 42.74 SJ100J0011

FRONT BRAKE UP-GRADE KIT EBC &#039;Green stuff&#039; fast road pads. Grooved &amp; spot

drilled discs, zinc plated for added corrosion protection. Complete axle set.

KIT € 202.12 SJ100J0013

PAIR HIGH PEFORMANCE FRONT BRAKE DISCS Grooved & spot drilled discs, zinc plated for

added corrosion protection.

PAIR € 186.79 SJ100J0012

AP RACING FRONT BRAKE CONVERSION (15 inch Wheels) Kit contains, 280x25 'AP Racing'

groved discs, 4 pot AP alloy calipers, fast road pads, alloy mounting bells and brackets, fixing bolts.

295mm discs also available for 16 inch wheels.

KIT € 2,905.54 SJ100J0016

FRONT SPRING, UP-RATED Aprox 20% increase in spring rate. Our adjustable dampers are

recommended to be used with these.

EACH € 47.36 SJ100C0001

PAIR of BUSHES for TRIANGULATION LINK on T.C.A. Polyurethane PAIR € 26.12 SJ100C0009

INNER PIVOT BUSHES for TCA   (PAIR) (Polyurethane) PAIR € 26.12 SJ100C0008

TOP WISHBONE BUSH (Polyurethane) (Set of 4) Set of 4 € 51.71 SJ100C0010

TOP WISHBONE BUSH (Polyurethane) (Set of 4) Set of 4 € 51.71 SJ100C0010

REAR LOWER WISHBONE INNER BUSH SET (Polyurethane) Axle set € 49.98 SJ100D0006

AP RACING FRONT BRAKE CONVERSION (16 inch Wheels) KIT € 2,913.50 SJ100J0032

ROAD/RACE SPRING and DAMPER SET  (Set of four) High rate springs, full adjustable dampers. Set of 4 € 731.49 SJ100C0012

REAR BRAKE PADS (EBC Greenstuff) Axle set € 53.00 SJ100J0034

OUTER BUSH SET for REAR LOWER WISHBONES Axle set € 43.44 SJ100D0009

Tools

Description Unit Retail price Part number

DRIVESHAFT OIL SEAL FITTING TOOL EACH € 53.32 T000T1004F

CLUTCH ALIGNING TOOL KIT € 23.50 SJ853

CLAMP PLATE for WHEEL NUT SPANNER EACH € 7.75 A100U0052F

CENTRE PLATE MANDREL EACH € 53.55 T000T0981F

TOOL, SLIDING SLEEVE CAP EACH € 53.55 T000T0986F

RETAINING CLIP - TOOL KIT EACH € 26.16 A100U0144F

OIL FILTER WRENCH  (for Lotus filter B100E6085S only!) EACH € 62.27 T000T1246F

INSTALLER FRONT CALIPER PISTON EACH € 53.55 T000T0987F

INSTALLER, REAR PISTON EACH € 53.55 T000T0988F

TECH 1 ALARM CARTRIDGE - FRENCH EACH € 70.40 A082M6564S

INPUT SHAFT OIL SEAL INSTALLER EACH € 59.50 T000T0999F

TOOL, METRIC PACK TERMINAL EACH € 28.45 T000T0903F

Page 23/55



SJ Sportscars Limited Parts and Accessories Price List

Cooling system

Page 24/55



SJ Sportscars Limited Parts and Accessories Price List

Aluminium pipes

Description Unit Retail price Part number

HOSE JOINER - LONG EACH € 52.76 B100K0073F

Drive Belts

Description Unit Retail price Part number

ALTERNATOR BELT EACH € 14.15 SJ100E0005

DRIVE BELT, A/C COMPRESSOR and P.A.S   (Lotus) EACH € 58.51 A100E6058F

AIR CON BELT for NON TURBO EACH € 12.73 A100E6059F

Fan blades, motors and switches

Description Unit Retail price Part number

TEMPERATURE SENSOR, for Radiator fans and Recirculation pump EACH € 111.35 A100E6357S

COOLING FAN and MOTOR ASSEMBLY EACH € 82.11 SJ100K0003

LABEL - FAN WARNING EACH € 17.74 A100U6048F

GROMMET for COOLING FAN MOUNTING EACH € 0.76 A100K6015F

TEMPERATURE SENSOR, (Radiator fans and Recirculation pump) EACH € 47.54 SJ100E0014

HARNESS - COOLING FANS EACH € 87.36 C100M0026F

SHOULDER WASHER for COOLING FAN MOUNITNG (Air bag models) EACH € 0.54 A100K6026F

FAN MOUNTING BRACKET No1 EACH € 18.33 A100K0116S

Header tanks and Expansion Bottles

Description Unit Retail price Part number

HEADER TANK CAP EACH € 4.28 A100K6008F

HEADER TANK (Aluminium) EACH € 201.11 SJ100K0004

HEADER TANK EACH € 45.40 A100K6007F

MOUNTING BRACKET for HEADER TANK EACH € 57.51 A100K0108F

Hoses

Description Unit Retail price Part number

TOP RADIATOR HOSE EACH € 47.41 A100K0025F

HOSE, HEATER VALVE to HEATER EACH € 22.53 A100K0030F

HOSE, HEADER TANK to THERMOSTAT HOUSING EACH € 11.77 B100K0038F

HOSE, HEATER VALVE to HEAD and RECIRCULATION PUMP EACH € 160.83 C100K0026F

HEATER OUTLET HOSE EACH € 23.72 B100K0028F

HEATER HOSE (NON TURBO) EACH € 11.15 B100K0029F

HEATER OUTLET HOSE (NON TURBO) EACH € 18.53 B100K0031F

DOWTY SEAL, OIL COOLER HOSE to COOLER EACH € 1.18 B100K6020F

BOTTOM HOSE EACH € 22.93 D100K0004F

HOSE CLIPS  (St/Steel) EACH € 0.77 H/CLIP

BOTTOM RADIATOR HOSE (With separate hose to recirc pump) EACH € 38.60 A100K0113K

HOSE, HEADER TANK to RECIRCULATION PUMP and BOTTOM HOSE EACH € 36.89 A100K0114K

BOTTOM RADIATOR HOSE, (Inc. hose to recirculation pump) EACH € 55.34 C100K0104F

Page 25/55



SJ Sportscars Limited Parts and Accessories Price List

HOSE, TURBO COOLANT FEED PIPE to THERMOSTAT HOUSING EACH € 11.13 A100E6344S

HOSE, TURBO COOLANT RETURN EACH € 11.07 A100E6345S

HOSE, STEEL PIPE UNDER TURBO to HEATER RETURN PIPE EACH € 8.09 A100E6361S

HOSE, HEATER VALVE to HEAD and RECIRCULATION PUMP EACH € 58.31 SJ100K0005

STUB PIPE for HOSE in THROTTLE BODY for NON-TURBO EACH € 20.04 A100E6349S

HEATER HOSE  obs EACH € 17.48 B100K0026F

HOSE - BRANCH to HEADER EACH € 27.49 A100K0045F

HOSE - RECIRCULATION PUMP to HOSE EACH € 14.28 C100K0044F

COOLANT HOSE SET (turbo only) SET € 201.11 SJ100K0007

SPRING TYPE HOSE CLIP For turbo coolant hoses EACH € 2.92 A100E6346S

HOSE JOINER - LONG EACH € 52.76 B100K0073F

HOSE CLIP 1/2 inch for BLEED HOSE to THERMOSTAT HOUSING EACH € 1.18 A075U6082F

HOSE CLIP - For throttle body intake hose EACH € 0.77 A910E6389F

Miscellaneous

Description Unit Retail price Part number

HEATER CONTROL VALVE EACH € 47.24 SJ100P0001

WATER FEED and RETURN PIPES to TURBO EACH € 117.81 B100E0017H

STUB PIPE for HOSE in THROTTLE BODY for NON-TURBO EACH € 20.04 A100E6349S

GASKET, COOLANT INLET HOUSING to BLOCK EACH € 1.84 A100E6335S

PIPE - WATER BY-PASS for NON-TURBO ONLY EACH € 66.35 A100E6337S

O RING, BY-PASS PIPE to COOLANT INLET HOUSING EACH € 3.47 A100E6339S

BOLT - Y STRUT to LOWER RADIATOR FRAME EACH € 0.82 A075W1035Z

BANJO BOLT - COOLANT PIPE ASSEMBLY to TURBOCHARGER EACH € 10.52 A100E6341S

Oil coolers and plumbing

Description Unit Retail price Part number

OIL COOLER HOSE (Return) EACH € 174.93 B100K0033F

DOWTY SEAL, OIL COOLER HOSE to COOLER EACH € 1.18 B100K6020F

OIL COOLER EACH € 310.96 SJ100K0001

OIL COOLER MOUNTING DUCT EACH € 175.38 F100B0384K

OIL COOLER HOSE (Feed) EACH € 172.55 A100K0032F

BANJO BOLT- HOSES to OIL COOLER EACH € 25.79 A100K6021F

Radiator ducts blanking foam etc

Description Unit Retail price Part number

OIL COOLER MOUNTING DUCT EACH € 175.38 F100B0384K

Radiators and fittings

Description Unit Retail price Part number

DRAIN and BLEED SCREW EACH € 19.49 A100K0111S

RADIATOR   (Reconditioned) EACH € 296.31 SJ100K0002

RADIATOR (New unit) EACH € 297.44 A100K0042F

Page 26/55



SJ Sportscars Limited Parts and Accessories Price List

TOP RADIATOR FIXING GROMMET EACH € 1.49 A100K6016F

BOTTOM RADIATOR FIXING GROMMET EACH € 0.68 A100K6017F

SHOULDER WASHER for COOLING FAN MOUNITNG (Air bag models) EACH € 0.54 A100K6026F

Temperature transmitters

Description Unit Retail price Part number

SENDER UNIT, TEMPERATURE GAUGE EACH € 27.01 A100M0042F

Thermostat

Description Unit Retail price Part number

THERMOSTAT   (Lotus) EACH € 25.94 A100E6176S

THERMOSTAT COVER GASKET EACH € 2.68 A100E6355S

THERMOSTAT and GASKET   (SJ Sports) EACH € 11.38 SJ100E0021

BOLT - THERMOSTAT COVER EACH € 2.61 A100E6356S

Water pump and repair parts

Description Unit Retail price Part number

WATER PUMP     (Lotus) EACH € 240.82 A100E6172S

WATER PUMP GASKET EACH € 2.61 A100E6400S

INSULATING STRIP for RECIRCULATION PUMP EACH € 6.88 A100K0041K

COOLANT RECIRCULATION PUMP EACH € 147.99 A100K6018F

WATER PUMP FIXING BOLT EACH € 1.15 A100E6399S

WATER PUMP and GASKET   (SJ Sports) EACH € 90.02 SJ100E0015

BOLT for RECIRCULATION PUMP CLAMP EACH € 0.54 A100W1090F

BOLT for RECIRCULATION PUMP CLAMP EACH € 0.54 A100W1090F

Electrical systems

Alternators, dynamos and drive belts

Description Unit Retail price Part number

ALTERNATOR Please let us know if your car has an oxygen sensor fitted or is a S2 so we can send

the correct part to you.

EACH € 130.66 SJ100E0010

BOLT - ALTERNATOR ADJUSTER STRAP to ENGINE EACH € 5.93 A100E6418S

BOLT - ALTERNATOR AJUSTING STRAP to ALTERNATOR EACH € 5.82 A100E6419S

Battery box

Description Unit Retail price Part number

DISCARNECT BATTERY SWITCH EACH € 8.28 SJ723

BATTERY TERMINAL COVERS (PAIR - RED and BLACK) PAIR € 6.55 SJ874

GROMMET - BATTERY COVER FIXINGS EACH € 1.59 A082U6196F

BOLT - Battery earth cable to chassis EACH € 0.43 A075W1036Z

COVER for +ve BATTERY TERMINAL EACH € 53.93 A100B2503K

Page 27/55



SJ Sportscars Limited Parts and Accessories Price List

WARNING LABEL for BATTERY EACH € 10.69 A075M6143F

Distributor

Description Unit Retail price Part number

DISTRIBUTOR CAP for NON-TURBO CARS EACH € 15.45 SJ100E0009

Flasher units

Description Unit Retail price Part number

FLASHER UNIT EACH € 11.88 A083M6303F

FLASHER UNIT  (USA only) EACH € 14.28 C082M6219F

Fuse box

Description Unit Retail price Part number

30 AMP 'MAXI' FUSE EACH € 2.74 A100M6076F

40 AMP 'MAXI' FUSE EACH € 2.74 A100M6077F

MAXI  FUSE - 50 AMP EACH € 2.74 A100M6078F

FUSE 2amp GREY EACH € 13.71 A082M6316F

SCREW - Fuse box fixings EACH € 1.18 A076W5090F

Horns

Description Unit Retail price Part number

HORN MOUNTING BRACKET EACH € 30.75 B100B0948F

HIGH TONE ELECTRIC HORN EACH € 10.12 SJ075M0010

LOW TONE ELECTRIC HORN EACH € 10.12 SJ075M0011

PLASTIC BUSH for HORN CONTACT PIN EACH € 17.01 C100H0029F

HORN CONTACT PIN EACH € 20.60 A082H4085F

HORN CONTACT PIN EACH € 9.46 A100H6013F

SCREW - HORN RING to BOSS EACH € 1.64 A082H6057H

Ignition coil

Description Unit Retail price Part number

IGNITION COIL for NON-TURBO CARS EACH € 40.46 A100E6040H

IGNITION COIL PACK EACH € 475.20 A100E6084F

IGNITION COIL EACH € 43.44 SJ100E0011

NYLON WASHER (sholdered) for COIL PACK FIXING EACH € 4.30 A100W6358F

Instruments

Description Unit Retail price Part number

SPEEDO DRIVE CABLE EACH € 42.15 A100N0001F

FUEL / TEMPERATURE GAUGE ASSEMBLY EACH € 157.26 A100N0006S

SENDER UNIT, TEMPERATURE GAUGE EACH € 27.01 A100M0042F

PANEL LAMP RHEOSTAT/SWITCH EACH € 18.91 A100M0097F

SPEEDO DRIVEN GEAR EACH € 34.97 A100F6015F

PANEL LAMP RHEOSTAT KNOB EACH € 2.96 A100M0094F

Page 28/55



SJ Sportscars Limited Parts and Accessories Price List

OIL PRESSURE SENDER UNIT EACH € 81.85 A100N0002F

BEZEL for CIGAR LIGHTER EACH € 8.95 B100M6052F

VOLTAGE REGULATOR for FUEL GAUGE EACH € 15.03 A100N6007S

VEHICLE SPEED SENSOR  (VSS) EACH € 22.75 A100N6005S

SOCKET STUD for SPEEDO DRIVE CLAMPING EACH € 1.13 A100W7089F

SPEEDOMETER (MPH) EACH € 64.84 A100N0012S

PLATE for SPEEDO DRIVE FITTING EACH € 4.28 A100F6014F

CIRCUIT BOARD for LOW FUEL EACH € 19.29 A100N6001S

FLEXIBLE CIRCUIT, SMALL EACH € 23.16 A100N6002S

FLEXIBLE CIRCUIT, MAIN EACH € 31.39 A100N6003S

CLOCK, DIGITAL EACH € 41.65 A100M0068F

FUEL GAUGE EACH € 66.64 A100N0007S

HEAT SINK EACH € 10.71 A100N6006S

REV COUNTER EACH € 116.62 A100N0013S

SPEEDO CABLE CLIP EACH € 3.45 A100N6008S

SCREW - INSTRUMENT MOUNTING PANEL to DASH EACH € 0.64 A075W5079F

Lamps

Description Unit Retail price Part number

OUTER HEADLAMP UNIT (RHD) EACH € 32.73 SJ100M0003

INNER HEADLAMP, MAIN BEAM EACH € 33.20 A100M6090F

FRONT SIDE/INDICATOR LAMP EACH € 141.61 C100M0013F

BULB - FOR SIDE MARKER LAMPS, USA ONLY EACH € 0.77 A082M6342F

INTERIOR LAMP In boot EACH € 14.04 A089M6032F

FINISHER ABOVE R/H REAR LAMP EACH € 48.35 A100B0558K

FINISHER ABOVE L/H REAR LAMP EACH € 48.35 A100B0557K

SPRING for HEADLAMP ADJUSTERS EACH € 2.31 A100B6159F

HEADLAMP ADJUSTER SCREW EACH € 0.70 A100W5176F

OUTER HEADLAMP (LHD Europe) EACH € 39.27 A100M6033F

SIDE REPEATER LAMP EACH € 19.64 B100M0083F

OUTER HEADLAMP BULB EACH € 2.32 SJ100M0004

STEEL HEADLAMP MOUNTING  RING for R/H OUTER LAMP EACH € 37.13 A100M0250F

STEEL HEADLAMP MOUNTING RING for L/H OUTER LAMP EACH € 37.13 A100M0249F

STEEL HEADLAMP MOUNTING RING for R/H INNER LAMP EACH € 37.13 A100M0248F

STEEL HEADLAMP MOUNTING RING for L/H INNER LAMP EACH € 37.13 A100M0247F

SCREW, FRONT SIDE LAMP to BUMPER - St/Steel EACH € 0.50 SJ100W0002

REAR FOG LAMP BULB EACH € 3.51 SJ100M0006

OUTER HEADLAMP MOUNTING ASSEMBLY EACH € 117.23 B100M0108F

PLASTIC DRIVE GEAR for HEADLAMP MOTORS Use in conjuction with SJ082M0033 EACH € 23.50 SJ082M0034

NUMBER PLATE LAMP (From vin M8264) EACH € 16.76 B100M0049F

SCREW for SIDE LAMP LENS EACH € 0.54 SJ100W0004

SCREW HEADLAMP RING to POD (St/Steel) EACH € 0.69 A100W5173F

Page 29/55



SJ Sportscars Limited Parts and Accessories Price List

OVERHAUL KIT for HEADLAMP MOTORS Includes drive rollers, gaskets, screws and instructions.

Sufficient for a pair of motors.

KIT € 35.22 SJ082M0033

LENS, CLEAR for SIDE and INDICATOR LAMP   (Pair) PAIR € 44.03 SJ100M0002

PLASTIC MOUNTING RING for OUTER HEAD LAMPS EACH € 66.40 SJ567

CENTRAL BRAKE LAMP (Where fitted) EACH € 104.68 A100M6029F

HOUSING for FRONT SIDE INDICATOR LAMP EACH € 101.15 SJ100M0007

GASKET for FRONT INDICATOR SIDE/LAMP EACH € 14.28 SJ100M0008

SPACER -  CENTRAL BRAKE LAMP to SPOILER EACH € 0.42 A100M6102F

THICK M6 WASHER Rear lamp fixing EACH € 0.57 A075W4014Z

HEADLAMP RETAINING RING EACH € 65.45 SJ604

INNER HEADLAMP MOUNTING ASSEMBLY EACH € 117.23 B100M0107F

PLASTIC MOUNTING RING for INNER HEAD LAMPS EACH € 66.40 SJ1013

LENS for FRONT SIDE/INDICATOR LAMP EACH € 37.34 A100M6154S

FRONT SIDE/INDICATOR LAMP - CLEAR LENS  (PAIR) PAIR € 336.77 SJ100M0001

1/4 TURN CAM BELT COVER CLIP (Male piece) FOR REAR LAMP COVERS EACH € 0.70 A075W6180F

ORANGE BULB for INDICATOR LAMPS EACH € 1.73 SJ100M0009

BULB for STOP/TAIL LAMP EACH € 0.57 A036M6331F

BULB for INDICATOR LAMP EACH € 0.62 A036M6329F

OUTER HEADLAMP - DIP/MAIN for USA EACH € 33.32 A100M6093F

SCREW M5 x 40 EACH € 0.65 A100W7102F

FRONT SIDE MARKER LAMP (USA only) (Amber) EACH € 94.52 A082M6359F

REAR SIDE MARKER LAMP (USA only) (Red) EACH € 94.52 A082M6360F

BULB - FOR BOOT LAMP EACH € 0.77 A083M6292F

OUTER HEADLAMP UNIT for DIP nad MAIN  (JAPAN) EACH € 30.36 A100M6098F

Miscellaneous

Description Unit Retail price Part number

ABS MODULE - (DERM) (Drivers side ABS only) EACH € 165.40 A082M6446F

MODULE, HEADLAMP POD DELAY EACH € 26.32 B100M0110F

MODULE for CENTRAL DOOR LOCKING EACH € 29.46 C100M0065F

HEADLAMP LINK ROD (4 per car) EACH € 21.35 B100B1004F

BEZEL for CIGAR LIGHTER EACH € 8.95 B100M6052F

OVERHAUL KIT for HEADLAMP MOTORS Includes drive rollers, gaskets, screws and instructions.

Sufficient for a pair of motors.

KIT € 35.22 SJ082M0033

PLASTIC BUSH for HORN CONTACT PIN EACH € 17.01 C100H0029F

RESISTOR for HEATER BLOWER MOTOR EACH € 19.40 A100P6033S

RUBBER CAP For port blanking EACH € 1.90 A100E6518S

L/H HEADLAMP LIFT MOTOR EACH € 172.55 A100B6063F

LOGIC MODULE For seat belts - Japan only EACH € 28.67 C082M4866F

STUDPLATE - ECM FIXING EACH € 7.07 A082U7214K

SENSOR for AIR BAG ARMING EACH € 46.41 A082M6445F

ALARM CONTROL BATTERY Gemini 5160T 'Aquila' Ultrasonic Type, Factory fitted. Series 2 only EACH € 4.50 A100M6219F

Page 30/55



SJ Sportscars Limited Parts and Accessories Price List

OIL PRESSURE SENDER UNIT EACH € 81.85 A100N0002F

WIPER DELAY MODULE EACH € 64.36 A082M6457F

DOOR SPEAKER EACH € 41.63 A100M0121F

MEM-CAL (RE-CALIBRATE CO) Exchange € 203.89 A100E0097S

R/H HEADLAMP LIFT MOTOR EACH € 172.55 A100B6064F

MASS AIR TEMPERATURE SENSOR  (MAT) EACH € 47.31 A100E6283F

PANEL ASSEMBLY - DOOR SPEAKER L/H EACH € 71.73 C100B0199J

SCREW - CENTRAL DOOR LOCKING MODULE FIXING EACH € 0.64 A075W5079F

Plug lead sets

Description Unit Retail price Part number

PLUG LEAD SET (TURBO) Turbo models only EACH € 53.55 A100E6153F

COIL LEAD (COIL to DISTRIBUTOR CAP) Non-Turbo only) EACH € 66.24 A100E6120F

CLAMP for PLUG LEADS  OBSELETE EACH € 4.17 A100E6144S

PLUG LEAD SET (MAGNECORE) KV85 race quality lead set. Turbo models only SET € 117.18 SJ100E0007

Relays

Description Unit Retail price Part number

MINI RELAY, VARIOUS USES EACH € 21.02 A100M6015F

RELAY, MIRROR TIMER EACH € 5.18 A100M6080F

MODULE - HEADLAMP LIFT  (Good used part) Exchange € 119.00 A100M6027F

CHANGE OVER RELAY EACH € 14.03 A100M6069F

INTERIOR LAMP DELAY MODULE For Series one only. EACH € 11.10 A082M6220F

CAPTIVE NUT - Relay mounting block to dashboard bracket. EACH € 0.42 A100M0131F

CAPTIVE NUT - Rear speaker to mounting bracket. EACH € 0.42 A100M0131F

CAPTIVE NUT - Rear speaker mounting bracket to body. EACH € 0.42 A100M0131F

RELAY, WATERPROOF for HEADLAMP OPERATION, JAPAN ONLY EACH € 26.12 A100M6104F

Starter Motors

Description Unit Retail price Part number

STARTER MOTOR   (brand new) EACH € 236.81 SJ100E0022

STARTER MOTOR   (New Lotus unit) EACH € 236.81 A100E6028S

Switches

Description Unit Retail price Part number

WINDOW SWITCH EACH € 33.92 A100M6007F

LIGHT SWITCH EACH € 32.61 B100M6019F

BRAKE LAMP SWITCH EACH € 4.68 SJ089M0002

INDICATOR/DIP SWITCH EACH € 39.06 A100M6048F

WASH/WIPE SWITCH EACH € 25.13 A100M6049F

REVERSE LAMP SWITCH EACH € 38.37 A100F6147S

REAR FOG LAMP SWITCH EACH € 18.93 B100M6004F

LIMIT SWITCH EACH € 6.74 C100B6065F

Page 31/55



SJ Sportscars Limited Parts and Accessories Price List

TEMPERATURE SENSOR, (Radiator fans and Recirculation pump) EACH € 47.54 SJ100E0014

AIR CONDITIONING SWITCH EACH € 11.85 B100M6005F

MICRO SWITCH for HAND BRAKE WARNING LAMP EACH € 7.47 A100J6073F

IGNITION SWITCH for R/H/D Series One EACH € 33.87 A100M6178S

BOOT LAMP SWITCH EACH € 9.31 A089M6031F

Windscreen washers and wipers

Description Unit Retail price Part number

WIPER BLADE, RHD  use A100M0329F EACH € 23.04 A100M0330F

WIPER BLADE (USA) EACH € 30.51 B100M0165F

WIPER ARM NUT COVER EACH € 15.09 A082M6380F

WIPER BLADE (All models) EACH € 10.59 A100M0329F

WASHER JET EACH € 10.10 C100M6071F

WIPER MECHANISM for L/H/D EACH € 196.68 B100M0149S

WASHER BOTTLE CAP EACH € 15.55 A100M6064H

R/H WIPER ARM  (For L/H/D cars) EACH € 9.78 B100M0161F

P CLIP, - WHITE  (Aprox 6mm) For washer tube fixing. EACH € 0.82 A075W6227F

WINDSCREEN WASHER PUMP (In bottle) EACH € 20.23 A100M6061H

R/H WIPER ARM (For R/H/D cars) EACH € 58.81 D100M0196F

NON-RETURN VALVE for WASHER SYSTEM EACH € 4.61 A100M6062H

GASKET for WASHER BOTTLE CAP EACH € 4.80 C100M0206F

WIPER LINKAGE inc MOTOR for R/H/D EACH € 170.50 E100M0092F

L/H WIPER ARM (For L/H/D cars) EACH € 15.32 D100M0197F

WINDSCREEN WASHER TUBING (5mm) METRE € 1.19 SJ832

T PIECE EACH € 1.55 A075M6118Z

WASHER BOTTLE EACH € 61.37 A100M6063S

WIPER MOTOR ASSY LHD EACH € 144.63 B100M0143S

FIXING KIT for WIPER LINKAGE EACH € 22.28 B100M0150S

WASHER JET EACH € 7.72 B100M6071F

WIPER MOTOR and MECHANISM for L/H/D ASSEMBLY € 224.91 D100M0093F

GROMMET - WASHER TUBING THROUGH BODY EACH € 0.90 X036B6010Z

CAGE NUT - WIPER MECHINISIM STRAP to BODY EACH € 0.42 A100M6088F

WIPER DELAY MODULE EACH € 64.36 A082M6457F

GROMMET - WASHER PUMP to BOTTLE EACH € 1.57 A132U6109H

WASHER - WASHER BOTTLE FIXING EACH € 0.86 B082W4018F

WASHER TUBING PER MTR € 1.19 A100M6072V

Wiring loom

Description Unit Retail price Part number

MAIN HARNESS for L/H/D EACH € 375.11 B100M0183F

HARNESS - HEADLAMPS (LUCAS) EACH € 73.09 A100M0258F

HARNESS - COOLING FANS EACH € 87.36 C100M0026F

P CLIP - WHITE (Aprox 18mm) Main harness to bulkhead and ECM harness fixing. EACH € 0.79 A075W6229F

Page 32/55



SJ Sportscars Limited Parts and Accessories Price List

BOLT - Battery earth cable to chassis EACH € 0.43 A075W1036Z

EDGE STRIP METRE € 6.57 A085U6080V

CIRCUIT BOARD for LOW FUEL EACH € 19.29 A100N6001S

FLEXIBLE CIRCUIT, SMALL EACH € 23.16 A100N6002S

FLEXIBLE CIRCUIT, MAIN EACH € 31.39 A100N6003S

INJECTOR WIRING CONNECTOR KIT KIT € 11.77 SJ100E0013

EDGE PROTECTOR METRE € 3.55 AX75L6020V

P CLIP - HEADLAMP LOOM RETENTION EACH € 0.70 A075W6000Z

P CLIP - WHITE (Aprox 25mm) VARIOUS HARNESS FIXINGS EACH € 1.13 A075W6230F

P Clip-Open 9.5mm Dia EACH € 1.18 A100W6344F

P CLIP - HEADLAMP LEAD to POD FRAME EACH € 0.70 A075W6004Z

P CLIP - ECM LOOM FIXING EACH € 0.77 A075W6002Z

WIRING HARNESS TERMINAL (Large)  LOOM to ECU EACH € 0.51 SJ908

WIRING HARNESS TERMINAL (Small) LOOM to ECU EACH € 0.58 SJ909

Engine

Big end bearings

Description Unit Retail price Part number

PAIR BIG END BEARINGS (Black) (4 per car) PAIR € 50.96 A100E6258S

BIG END SHELL for Non-Turbo only  (BROWN) PAIR € 36.02 A100E6260S

Camshafts and bearings

Description Unit Retail price Part number

FRONT CAMSHAFT OIL SEAL EACH € 13.64 A100E6213S

HYDRAULIC VALVE LIFTER (Cam follower) EACH € 36.03 A100E6223S

DOWEL for CAMSHAFT BEARING CAP EACH € 2.27 A100E6310S

PLUG - REAR CAM CAP EACH € 15.98 A100E6294S

Connecting rods

Description Unit Retail price Part number

BIG END BOLT EACH € 11.59 A100E6254S

Crankshaft and flywheel and connecting rods

Description Unit Retail price Part number

FLYWHEEL RING GEAR EACH € 136.04 A100E6245S

FLYWHEEL EACH € 129.28 A100E6178H

HOUSING for REAR CRANKSHAFT OIL SEAL - INCLUDING OIL SEAL EACH € 73.04 A100E6384S

FLYWHEEL BOLT EACH € 7.96 A100E6246S

CONNECTING ROD  (For Turbo engines) EACH € 53.06 A100E6253S

CRANKSHAFT WOODRUFF KEY EACH € 13.04 A100E6242S

BOLT EACH € 3.95 B100F6058F

Page 33/55



SJ Sportscars Limited Parts and Accessories Price List

Engine breather system

Description Unit Retail price Part number

CRANKCASE VENTILATION VALVE (PCV) (Fitted in cam cover) EACH € 8.75 A100E6475S

HOSE - PCV VALVE to CAM COVER EACH € 18.54 A100E6476S

HOSE - OIL SEPARATOR to SUMP METRE € 43.09 A100E6490S

ENGINE BREATHER OIL SEPARATOR EACH € 41.65 A100E6018S

Engine electrics

Description Unit Retail price Part number

TURBO BOOST SOLENOID VALVE EACH € 52.76 A100E6080F

ROTOR ARM (For non-turbo cars) EACH € 15.48 A100E6554S

PLUG LEAD SET (TURBO) Turbo models only EACH € 53.55 A100E6153F

HALL EFFECT SENSOR in CAM ANGLE SENSOR EACH € 65.15 A100E0102S

MASS AIR PRESSURE SENSOR - (MAP) EACH € 78.52 A100E6054F

MASS AIR TEMPERATURE SENSOR  (MAT) EACH € 47.31 A100E6283F

O RING - CAM ANGLE SENSOR to HEAD EACH € 1.56 A100E6562S

SENDER UNIT, TEMPERATURE GAUGE EACH € 27.01 A100M0042F

SPARK PLUG for ELAN TURBO SE Turbo only EACH € 4.51 NGKBKR6E

TEMPERATURE SENSOR, for Radiator fans and Recirculation pump EACH € 111.35 A100E6357S

TEMPERATURE SENSOR, (For Engine managment) EACH € 49.53 A100E6373S

SPARK PLUG,    (Non turbo) EACH € 2.62 SJ100E0006

PLUG LEAD SET (MAGNECORE) KV85 race quality lead set. Turbo models only SET € 117.18 SJ100E0007

OXYGEN SENSOR, (For all models. when fitted) EACH € 57.12 A100E6024S

KNOCK SENSOR EACH € 70.56 C910E6937F

THOTTLE POSITION SWITCH EACH € 273.70 A100E6432S

CAM ANGLE SENSOR EACH € 450.17 A100E6020H

DISTRIBUTOR CAP for NON-TURBO CARS EACH € 15.45 SJ100E0009

ALTERNATOR Please let us know if your car has an oxygen sensor fitted or is a S2 so we can send

the correct part to you.

EACH € 130.66 SJ100E0010

IGNITION COIL for NON-TURBO CARS EACH € 40.46 A100E6040H

IGNITION COIL PACK EACH € 475.20 A100E6084F

IGNITION COIL EACH € 43.44 SJ100E0011

TEMPERATURE SENSOR, (Radiator fans and Recirculation pump) EACH € 47.54 SJ100E0014

STARTER MOTOR   (brand new) EACH € 236.81 SJ100E0022

ELECTRONIC BASE PLATE for IGNITION COIL PACK EACH € 415.11 SJ910E0068

COIL LEAD (COIL to DISTRIBUTOR CAP) Non-Turbo only) EACH € 66.24 A100E6120F

STARTER MOTOR   (New Lotus unit) EACH € 236.81 A100E6028S

OIL PRESSURE SENDER UNIT EACH € 81.85 A100N0002F

SENSOR E.G.R. VALVE EACH € 53.55 A100E6275H

CLAMP for PLUG LEADS  OBSELETE EACH € 4.17 A100E6144S

ANTI TAMPER LABEL for ECU EACH € 1.55 A082U7223F

STUDPLATE - ECM FIXING EACH € 7.07 A082U7214K

Page 34/55



SJ Sportscars Limited Parts and Accessories Price List

MEM-CAL (RE-CALIBRATE CO) Exchange € 203.89 A100E0097S

ECM-CLOSED LOOP-NOT CAL EACH € 189.65 A100E6533F

Gasket sets, gaskets and seals

Description Unit Retail price Part number

HEAD GASKET EACH € 94.61 A100E6104S

GASKET, EXHAUST MANIFOLD to HEAD EACH € 7.50 A100E6097S

GASKET, INJECTOR HOUSING to PLENUM EACH € 6.37 A100E6101S

GASKET, THROTTLE BODY to PLENUM EACH € 3.87 A100E6102S

HEAD GASKET    (Non turbo only) EACH € 59.18 A100E6103S

CAM COVER GASKET EACH € 35.69 A100E6284S

THERMOSTAT COVER GASKET EACH € 2.68 A100E6355S

DOWN PIPE GASKET, NON TURBO EACH € 7.24 A100E6043F

SEAL RING, DOWN PIPE to TURBO EACH € 15.93 A100E6052F

O RING - CAM ANGLE SENSOR to HEAD EACH € 1.56 A100E6562S

WELLSEAL GASKET SEALANT 100ml € 15.35 SJ635

GASKET - OIL STRAINER PIPE EACH € 1.38 A100E6395S

GASKET, TURBO to EXHAUST MANIFOLD EACH € 20.98 A100E6096S

FRONT CAMSHAFT OIL SEAL EACH € 13.64 A100E6213S

GASKET, EGR PIPE to EXHAUST MANIFOLD EACH € 12.66 A100E6494S

WATER PUMP GASKET EACH € 2.61 A100E6400S

REAR CRANKSHAFT OIL SEAL EACH € 25.67 A100E6387S

FRONT CRANKSHAFT OIL SEAL EACH € 16.31 A100E6411S

HEAD GASKET SET  (Turbo) SET € 253.18 A100E6286S

COMPLETE ENGINE GASKET SET for NON-TURBO ENGINES SET € 211.82 A100E6183S

GASKET, TURBO to WASTEGATE MANIFOLD EACH € 15.65 A100E6098S

GASKET, OIL DRAIN PIPE to TURBO EACH € 3.55 A100E6445S

GASKET for EGR VALVE EACH € 3.31 A100E6109S

VALVE GUIDE OIL SEAL EACH € 3.56 A100E6197S

HEAD GASKET SET for all turbocharged models SET € 148.73 SJ100E0008

GASKET, THERMOSTAT HOUSING to HEAD EACH € 4.71 A100E6358S

GASKET, INJECTOR HOUSING to HEAD EACH € 9.15 A100E6100S

GASKET, COOLANT INLET HOUSING to BLOCK EACH € 1.84 A100E6335S

O RING, BY-PASS PIPE to COOLANT INLET HOUSING EACH € 3.47 A100E6339S

COMPLETE ENGINE GASKET SET (Turbo) SET € 306.22 A100E6184S

PLUG - REAR CAM CAP EACH € 15.98 A100E6294S

HEAD GASKET SET for NON TURBO SET € 128.52 SJ100E0024

Main Bearings

Description Unit Retail price Part number

PAIR MAIN BEARINGS (Black) (5 per car) PAIR € 48.67 A100E6232S

PAIR MAIN BEARINGS (Blue) (5 per car) PAIR € 69.76 A100E6233S

PAIR MAIN BEARINGS (Brown) (5 per car) PAIR € 52.36 A100E6231S

Page 35/55



SJ Sportscars Limited Parts and Accessories Price List

Miscellaneous

Description Unit Retail price Part number

CRANKCASE VENTILATION VALVE (PCV) (Fitted in cam cover) EACH € 8.75 A100E6475S

MOBIL 1 10/60  (5 Litres) 5 LITRES € 61.80 SJ686

LOCTITE (NUT LOCK) 50ml € 37.94 SJ649

HOUSING for REAR CRANKSHAFT OIL SEAL - INCLUDING OIL SEAL EACH € 73.04 A100E6384S

GROMMET. PCV VALVE to CAM COVER EACH € 5.77 A100E6292S

ENGINE MOUNTING BUSH, for R/H MOUNTING EACH € 52.91 A100E6115F

TURBOCHARGER AND WASTEGATE EACH € 830.62 A100E6127H

PLUG - REAR CAM CAP EACH € 15.98 A100E6294S

GRAPHOGEN ENGINE ASSEMBLY PASTE TUBE € 27.35 SJ588

GRAPHOGEN ENGINE ASSEMBLY PASTE TUBE € 27.35 SJ588

UPPER TIMING BELT COVER EACH € 53.55 A100E6389S

DIP STICK TUBE EACH € 25.16 A100E6326S

BANJO BOLT - COOLANT PIPE ASSEMBLY to TURBOCHARGER EACH € 10.52 A100E6341S

RUBBER CAP - INLET PLENUM PORT BLANKING EACH € 1.38 A100E6489S

Mountings /engine

Description Unit Retail price Part number

R/H ENGINE MOUNTING RUBBER EACH € 43.05 B100E6115F

REAR ENGINE MOUNTING RUBBER EACH € 50.68 A100E6130F

RUBBER WASHER for ENGINE MOUNTING RUBBER Used on right hand engine and gearbox

mounting bushes

EACH € 11.02 B100E6185F

GEARBOX MOUNTING RUBBER EACH € 47.31 SJ100E0017

SOCKET SCREW M10 - ENGINE MOUNTING BRACKET to BLOCK EACH € 1.01 A075W7030F

PLATE-REAR ENGINE MOUNT EACH € 25.93 B100A0570F

R/H ENGINE MOUNTING BRACKET EACH € 131.00 B100A0370F

ENGINE MOUNTING RUBBER BUSH KIT KIT € 173.50 SJ100E0025

Oil filler caps

Description Unit Retail price Part number

OIL FILLER CAP EACH € 14.91 A100E6171S

O RING for OIL FILLER CAP EACH € 5.83 A100E6300S

Oil filters

Description Unit Retail price Part number

OIL FILTER    (Lotus) EACH € 12.88 B100E6085S

OIL FILTER EACH € 9.46 SJ100E0002

Oil pumps

Description Unit Retail price Part number

OIL PICK UP PIPE & STRAINER EACH € 58.83 A100E6393S

OIL PUMP ASSEMBLY EACH € 298.26 A100E6402S

Page 36/55



SJ Sportscars Limited Parts and Accessories Price List

Piston rings

Description Unit Retail price Part number

PISTON RING SET,  (Standard bore)   (4 per car) For original pistons SET of 3 € 29.87 A100E6251S

Pistons

Description Unit Retail price Part number

SET of PISTONS  (Standard size) Complete with rings and pins. Set of 4 € 549.78 A100E6249S

GUDGEON PIN EACH € 7.69 A100E6263S

GUDGEON PIN CIRCLIP EACH € 4.26 A100E6264S

SET of PISTONS  (0.5 mm Oversize) Complete with rings and pins. SET of 4 € 644.98 A100E6544S

SET of PISTONS  (1 mm Oversize) Complete with rings and pins. Set of 4 € 787.78 A100E6545S

Studs, nuts and bolts

Description Unit Retail price Part number

CYLINDER HEAD BOLT EACH € 14.66 A100E6189S

BOLT for PLUG LEAD COVER EACH € 0.25 A100E6297S

STUD, EXHAUST MANIFOLD to HEAD EACH € 4.50 A100E6188S

NUT - EXHAUST MANIFOLD to HEAD EACH € 3.49 A100E6165S

STUD 30mm, TURBO to WASTEGATE MANIFOLD Two per car EACH € 4.97 A100E6436S

STUD 81mm, TURBO to WASTEGATE MANIFOLD One per car EACH € 6.25 A100E6437S

STUD 60mm, TURBO to WASTEGATE MANIFOLD One per car EACH € 5.18 A100E6438S

DOWN PIPE NUT EACH € 0.67 A100S6006F

BOLT, CAMBELT IDLER PULLEY to BLOCK EACH € 21.30 A100E6212S

WATER PUMP FIXING BOLT EACH € 1.15 A100E6399S

FLYWHEEL BOLT EACH € 7.96 A100E6246S

STUD, WASTEGATE MANIFOLD to STARTER CATALYST EACH € 1.92 A100E6463S

BOLT, CAMBELT TENSIONER to BLOCK EACH € 15.46 A100E6215S

BOLT for TURBO DRAIN PIPE FIXING EACH € 3.40 A100E6446S

BOLT - STARTER CATALYST to WASTEGATE MANIFOLD EACH € 1.18 A100E6457S

BIG END BOLT EACH € 11.59 A100E6254S

BOLT - EGR PIPE to EXHAUST MANIFOLD EACH € 4.75 A100E6493S

BOLT, HEAT SHEILD FIXING EACH € 0.99 A100E6343S

BOLT - THERMOSTAT COVER EACH € 2.61 A100E6356S

BOLT - ALTERNATOR ADJUSTER STRAP to ENGINE EACH € 5.93 A100E6418S

BOLT - ALTERNATOR AJUSTING STRAP to ALTERNATOR EACH € 5.82 A100E6419S

BOLT - FLYWHEEL COVER FIXING EACH € 4.37 A100F6052F

Sump parts

Description Unit Retail price Part number

SUMP PLUG EACH € 19.40 A100E6158S

SUMP PLUG WASHER EACH € 0.82 A100E6159S

GASKET - OIL STRAINER PIPE EACH € 1.38 A100E6395S

Page 37/55



SJ Sportscars Limited Parts and Accessories Price List

OIL PICK UP PIPE & STRAINER EACH € 58.83 A100E6393S

SUMP Includes plug and washer. EACH € 338.31 A100E6330S

SUMP BOLT EACH € 5.36 A100E6160S

DIP STICK TUBE EACH € 25.16 A100E6326S

Thrust washers

Description Unit Retail price Part number

THRUST WASHER (2 Per car) EACH € 12.01 A100E6238S

Timing belts and chains

Description Unit Retail price Part number

TIMING BELT (Camshaft dive belt)   (Lotus) EACH € 132.73 A100E6170S

CAMBELT IDLER PULLEY   (Lotus) EACH € 162.36 A100E6211S

CAMBELT TENSIONER ASSEMBLY EACH € 59.21 A100E6214S

LONG CAMBELT COVER BOLT EACH € 4.70 A100E6391S

BOLT, CAMBELT IDLER PULLEY to BLOCK EACH € 21.30 A100E6212S

SPRING for CAMBELT TENSIONER EACH € 10.44 A100E6216S

TIMING BELT  (Camshaft drive belt)   (SJ Sportscars) EACH € 42.48 SJ100E0016

CAMBELT IDLER PULLEY    (Non-Lotus) EACH € 57.83 SJ100E0018

BOLT, CAMBELT TENSIONER to BLOCK EACH € 15.46 A100E6215S

UPPER TIMING BELT COVER EACH € 53.55 A100E6389S

TIMING BELT KIT KIT € 267.75 SJ100E0026

Timing sprockets and wheels

Description Unit Retail price Part number

CRANKSHAFT SPROCKET for CAMBELT DRIVE EACH € 74.33 A100E6199S

V Belts

Description Unit Retail price Part number

POWER STEERING PUMP DRIVE BELT (NO AIR CONDITIONING) EACH € 14.60 SJ100E0012

ALTERNATOR BELT EACH € 14.15 SJ100E0005

DRIVE BELT, A/C COMPRESSOR and P.A.S   (Lotus) EACH € 58.51 A100E6058F

AIR CON BELT for NON TURBO EACH € 12.73 A100E6059F

POWER STEERING PUMP DRIVE BELT (No air con) (Lotus) EACH € 115.74 A100E6131F

DRIVE BELT for A/C COMPRESSOR and POWER STEERING PUMP EACH € 12.73 SJ100E0020

Valves, guides and springs

Description Unit Retail price Part number

EXHAUST VALVE EACH € 66.91 A100E6219S

INLET VALVE EACH € 26.16 A100E6218S

VALVE GUIDE OIL SEAL EACH € 3.56 A100E6197S

EXHAUST VALVE GUIDE EACH € 11.31 A100E6308S

INLET VALVE SEAT EACH € 10.61 A100E6301S

EXHAUST VALVE SEAT EACH € 12.86 A100E6302S

Page 38/55



SJ Sportscars Limited Parts and Accessories Price List

INLET VALVE GUIDE EACH € 11.15 A100E6307S

VALVE SPRING  (16 per car) EACH € 4.43 A100E6220S

VALVE SPRING RETAINER (16 per car) EACH € 4.45 A100E6221S

VALVE COLLET    (32 per car) EACH € 1.61 A100E6222S

VALVE SPRING SEAT EACH € 4.19 A100E6198S

Exhausts

Exhaust hardware

Description Unit Retail price Part number

DOWN PIPE GASKET, NON TURBO EACH € 7.24 A100E6043F

GASKET, EXHAUST MANIFOLD to HEAD EACH € 7.50 A100E6097S

STUD, FRONT SPHERICAL JOINT EACH € 5.47 A100S0030F

RETAINING WASHER for FRONT JOINT SPRINGS EACH € 1.40 A100S0031F

SPRING for DOWN-PIPE SPHERICAL JOINT EACH € 16.93 A100S0032F

CONE SEAL, DOWN PIPE to FRONT SECTION (Series 1) EACH € 6.37 A100S6005F

EXHAUST CLAMP EACH € 4.70 A100S6011F

DOWN PIPE SUPPORT BRACKET EACH € 26.49 B100S0054F

EXHAUST MOUNTING RUBBER EACH € 3.56 SJ100S0001

SEAL RING, DOWN PIPE to TURBO EACH € 15.93 A100E6052F

GASKET, TURBO to EXHAUST MANIFOLD EACH € 20.98 A100E6096S

EXHAUST JOINTING PASTE EACH € 4.07 SJ679

CONE SEAL, DOWN PIPE to FRONT SECTION (Series 2) EACH € 6.60 A100S6020F

EXHAUST DOWN PIPE STUD EACH € 8.28 B100E6164S

NUT - EXHAUST MANIFOLD to HEAD EACH € 3.49 A100E6165S

STUD, EXHAUST MANIFOLD to HEAD EACH € 4.50 A100E6188S

REAR SILENCER MOUNTING BRACKET (on body) EACH € 29.65 B100S0048F

DOWN PIPE NUT EACH € 0.67 A100S6006F

STUD, WASTEGATE MANIFOLD to STARTER CATALYST EACH € 1.92 A100E6463S

SENSOR -  EXHAUST GAS TEMPERATURE for Japan only EACH € 45.11 A100E6276H

BOLT - STARTER CATALYST to WASTEGATE MANIFOLD EACH € 1.18 A100E6457S

VIBRATION DAMPER - EXHAUST EACH € 24.40 A100S6012F

SILENCER MOUNTING STRAP ASSEMBLY EACH € 33.32 B100S0050F

Genuine exhaust parts

Description Unit Retail price Part number

EXHAUST DOWN PIPE, (Series 1 Turbo ) EACH € 150.68 C100S0023F

EXHAUST CENTRE SECTION (Series 2) (Stainless Steel) With catalist fitted. EACH € 124.89 A100S6023F

REAR SILENCER (All Series 1 Turbo)   (Lotus) EACH € 100.90 J100S0008F

EXHAUST DOWN PIPE (Series 2) EACH € 136.78 A100S6019F

EXHAUST FRONT PIPE (Series 1, with catalyst) EACH € 56.07 B100S0061F

Page 39/55



SJ Sportscars Limited Parts and Accessories Price List

CENTRE SECTION (Turbo, non-cat) (Lotus) For all non-catalyst cars. EACH € 184.56 C100S0007F

EXHAUST CENTRE SECTION (Series 1 models with catalyst) EACH € 92.82 A100S0060F

Heatshields

Description Unit Retail price Part number

BOLT, HEAT SHEILD FIXING EACH € 0.99 A100E6343S

BOLT to FIX CATALYTIC CONVERTER HEAT SHEILD to CHASSIS EACH € 0.54 A100S0021F

Manifolds

Description Unit Retail price Part number

GASKET, EXHAUST MANIFOLD to HEAD EACH € 7.50 A100E6097S

Stainless steel exhausts

Description Unit Retail price Part number

STANDARD REAR SILENCER (Turbo, non cat) EACH € 285.54 SJ100S0002

CENTRE SECTION (All models without cat) (Stainless steel) EACH € 99.07 SJ100S0003

FRONT SECTION (Turbo, non cat) EACH € 125.58 SJ100S0004

STAINLESS STEEL SYSTEM   (Turbo, non-cat) 4 piece € 666.28 SJ100S0005

REAR SILENCER - SPORTS  (Stainless steel) EACH € 273.05 SJ100S0006

REAR SILENCER (Non turbo) St/Steel EACH € 285.54 SJ100S0007

CATALYTIC CONVERTER  (For Series 2) EACH € 147.56 SJ100S0008

EXHAUST CENTRE SECTION (Series 2) (Stainless Steel) EACH € 124.89 A100S6023F

EXHAUST SYSTEM for Series 2   (Including catalyst) SYSTEM € 653.31 SJ100S0011

DOWN PIPE    (Non-Turbo only) EACH € 105.91 B100S0022F

CATALYTIC CONVERTER  (For Series 1) EACH € 296.88 F100S0024F

EXHAUST CENTRE SECTION (Series 1 models with catalyst) EACH € 92.82 A100S0060F

FRONT SECTION and SILENCER (Non Turbo Only) EACH € 171.75 B100S0025F

Final drive

Drive shafts

Description Unit Retail price Part number

OUTBOARD DRIVE SHAFT BOOT KIT EACH € 10.65 A100R6004S

L/H INBOARD DRIVESHAFT JOINT EACH € 170.94 A100R6007S

L/H DRIVESHAFT (Complete) EACH € 260.81 C100R0001F

R/H DRIVESHAFT  (Reconditioned) Exchange € 247.52 C100R0002F

DRIVESHAFT SNAP RING (End of L/H driveshaft) EACH € 0.68 A100R6001F

DRIVESHAFT SNAP RING (R/H end of centre shaft) EACH € 0.92 A100F6059F

DRIVESHAFT GAITER KIT for INBOARD JOINTS EACH € 14.91 A100R6005S

FRONT HUB NUT EACH € 10.40 A100R6002F

GREASE for CONSTANT VELOCITY JOINTS EACH € 3.51 SJ854

BOLT - CENTRE SHAFT and BEARING to CYLINDER BLOCK. EACH € 6.01 A100F6034F

Page 40/55



SJ Sportscars Limited Parts and Accessories Price List

OUTBOARD DRIVESHAFT JOINT EACH € 101.15 A100R6003S

Gaskets and oil seals

Description Unit Retail price Part number

DRIVESHAFT OIL SEAL EACH € 17.97 A100F6067S

Front suspension

Adjustment shims

Description Unit Retail price Part number

CAMBER ADJUSTMENT PLATE 10.5 mm EACH € 5.65 A100C0109F

CAMBER ADJUSTING PLATE 12.5mm EACH € 5.65 A100C0110F

CAMBER ADJUSTMENT PLATE 11.5 mm EACH € 5.65 A100C0125F

CAMBER ADJUSTMENT PLATE 14mm EACH € 5.65 A100C0111F

Anti roll bar

Description Unit Retail price Part number

ANTI ROLL BAR DROP LINK (Inc. bushes) EACH € 60.68 A100C6011F

FRONT ANTI-ROLL-BAR EACH € 398.65 D100C0060F

REPLACEMENT BUSH for ANTI ROLL BAR DROP LINK EACH € 12.79 SJ100C0011

M10 NYLOCK NUT EACH € 0.27 SJ501

BALL JOINT, A.R.B to LOWER LINK  (SJ Sportscars) EACH € 41.65 SJ100C0013

Ball joints

Description Unit Retail price Part number

BALL JOINT, A.R.B to LOWER LINK EACH € 144.61 C100C6008F

TOP BALL JOINT EACH € 26.18 F100C0058F

LOWER BALL JOINT EACH € 16.07 A100C6020F

M8 KAYLOCK NUT special nut for top ball joint bolts. EACH € 1.84 SJ100W0001

CASTER ADJUSTMENT SHIM EACH € 4.57 A100C0025F

THIN NYLOCK NUT for TOP BALL JOINT EACH € 0.94 A100C6021F

INNER BOLT, TOP BALL JOINT to WISHBONES EACH € 0.89 SJ100C0005

OUTER BOLT, TOP BALL JOINT to WISHBONE EACH € 0.89 SJ100C0006

BALL JOINT, A.R.B to LOWER LINK  (SJ Sportscars) EACH € 41.65 SJ100C0013

NYLOCK NUT for LOWER BALL JOINTS and TCA PIVOT BOLTS for bottom joints. EACH € 0.62 A100C6019F

Bolts and Studs and nuts

Description Unit Retail price Part number

M8 KAYLOCK NUT EACH € 1.84 SJ100W0001

NYLOCK NUT - for top wishbone pivot pin EACH € 0.62 A075W3078F

TOP WISHBONE PIVOT STUD EACH € 11.15 B100C0051F

TOP DAMPER WASHER EACH € 3.88 A100C0151F

Page 41/55



SJ Sportscars Limited Parts and Accessories Price List

BOLT, M12 x 75 UNDERFRAME REAR FIXING EACH € 2.65 A075W2071F

BOLT - Anti roll bar drop-link to chassis EACH € 1.40 A100A6026F

INNER BOLT, TOP BALL JOINT to WISHBONES EACH € 0.89 SJ100C0005

OUTER BOLT, TOP BALL JOINT to WISHBONE EACH € 0.89 SJ100C0006

THIN NYLOCK NUT for TOP BALL JOINT EACH € 0.94 A100C6021F

LOCK NUT (Thin) for TOP WISHBONE STUD EACH € 0.99 A100W3107F

NYLOCK NUT for BALL JOINT, (ANTI ROLL BAR to TCA) For ball joint, anti-roll-bar to T.C.A. EACH € 4.93 A100W3109F

BOLT, TCA  to BRACING STRUT (4 per car) EACH € 0.86 A075W7024F

BOLT, T.C.A. and BRACING STRUT to RAFT EACH € 2.24 A075W2073F

FLAT WASHER - M10 EACH € 0.30 A075W4024Z

FLAT WASHER - M10 EACH € 0.30 A075W4024Z

FRONT HUB NUT EACH € 10.40 A100R6002F

M10 KAYLOCK NUT for triangulation link to TCA. EACH € 4.37 SJ089W0001

BOLT - WISHBONE END PLATE TO RAFT EACH € 0.77 A075W2045F

BOLT, ANTIROLL BAR to DROP LINKS EACH € 0.42 SJ075W0014

BOLT - damper yokes to damper EACH € 0.81 A082W7053F

OUTTER RAFT MOUNTING PLATE EACH € 17.37 B100C0046F

BOLT - DRI LOC M12 X 77 THIN HEAD Raft to longeron EACH € 6.43 A100C0074F

SNUBBER WASHER, 12 mm for WISHBONE BUSHES Top wishbone EACH € 4.83 A100D0037F

BOLT M8 x 75 RAFT MOUNTING PLATE to RAFT EACH € 2.98 A100C6027F

SPACING WASHER for ANTI ROLL BAR BALL JOINT to DAMPER YOKES EACH € 0.65 A075W4028Z

NYLOCK NUT 7/16 unf   T SECTION For inner bolt, T.C.A to triangulation link. EACH € 1.59 A075W3004Z

Bushes

Description Unit Retail price Part number

BUSH, DAMPER YOKES to LOWER LINK EACH € 18.68 D100C6005F

TOP WISHBONE BUSH EACH € 17.26 C100C6003F

LOWER RAFT MOUNTING BUSH (Rear) (2 per car) (Series 2) EACH € 18.68 E100C6001F

LOWER RAFT MOUNTING BUSH (Front) (4 per car) EACH € 11.66 C100C6006F

LOWER RAFT MOUNTING BUSH (Rear) (2 per car) (Series 1) EACH € 21.16 D100C6001F

UPPER RAFT MOUNTING BUSHES (4 per car) EACH € 10.25 D100C6018F

LOWER WISHBONE INNER BUSH EACH € 14.51 E100C6002F

REPLACEMENT BUSH for ANTI ROLL BAR DROP LINK EACH € 12.79 SJ100C0011

Bushes (Polyurethane)

Description Unit Retail price Part number

INNER PIVOT BUSHES for TCA   (PAIR) (Polyurethane) PAIR € 26.12 SJ100C0008

PAIR of BUSHES for TRIANGULATION LINK on T.C.A. Polyurethane PAIR € 26.12 SJ100C0009

TOP WISHBONE BUSH (Polyurethane) (Set of 4) Set of 4 € 51.71 SJ100C0010

REPLACEMENT BUSH for ANTI ROLL BAR DROP LINK EACH € 12.79 SJ100C0011

Dampers (adjustable)

Description Unit Retail price Part number

Page 42/55



SJ Sportscars Limited Parts and Accessories Price List

YOKE - DAMPER to T.C.A. EACH € 70.38 A100C0040F

FRONT DAMPER  (Fully adjustable) A top quality fully adjustable aluminium damper EACH € 152.32 SJ100C0002

GAITER for DAMPER ROD EACH € 23.21 A100C6013H

M8 KAYLOCK NUT special nut for bolts, yokes to bottom of damper. EACH € 1.84 SJ100W0001

C SPANNER EACH € 37.13 SJ831

BOLT - damper yokes to damper EACH € 0.81 A082W7053F

Dampers (standard)

Description Unit Retail price Part number

YOKE - DAMPER to T.C.A. EACH € 70.38 A100C0040F

GAITER for DAMPER ROD EACH € 23.21 A100C6013H

TOP DAMPER WASHER EACH € 3.88 A100C0151F

M8 KAYLOCK NUT special nut for bolts, yokes to bottom of damper. EACH € 1.84 SJ100W0001

BOLT - damper yokes to damper EACH € 0.81 A082W7053F

SPRING DAMPER ASSEMBLY EACH € 268.25 F100C0077F

Drive shafts

Description Unit Retail price Part number

OUTBOARD DRIVE SHAFT BOOT KIT EACH € 10.65 A100R6004S

DRIVESHAFT GAITER KIT for INBOARD JOINTS EACH € 14.91 A100R6005S

Hubs and Bearings

Description Unit Retail price Part number

FRONT WHEEL BEARING EACH € 16.96 A100C6009F

FRONT WHEEL BEARING CIRCLIP EACH € 1.73 A100C6010F

FRONT HUB EACH € 58.31 SJ100C0007

FRONT HUB NUT EACH € 10.40 A100R6002F

Springs

Description Unit Retail price Part number

FRONT SPRING EACH € 47.36 B100C0086F

FRONT SPRING, UP-RATED Aprox 20% increase in spring rate. Our adjustable dampers are

recommended to be used with these.

EACH € 47.36 SJ100C0001

INSULATOR for TOP of SPRING, FRONT and REAR EACH € 10.50 A100C0038F

Vertical links

Description Unit Retail price Part number

R/H FRONT HUB CARRIER EACH € 149.07 J100C0034G

L/H FRONT HUB CARRIER EACH € 128.57 J100C0033G

Wishbones and lower links

Description Unit Retail price Part number

BUSH, DAMPER YOKES to LOWER LINK EACH € 18.68 D100C6005F

R/H LOWER LINK (T.C.A.) EACH € 391.06 A100C0132S

Page 43/55



SJ Sportscars Limited Parts and Accessories Price List

L/H LOWER LINK (T.C.A.) EACH € 391.06 A100C0133S

TOP WISHBONE, REAR HALF  (Two per car) Latest strengthened (Series 2) specification. EACH € 41.65 A100C0148F

TOP WISHBONE L/H FRONT HALF  (One per car) Latest strengthened (Series 2) specification. EACH € 92.36 A100C0149F

TOP WISHBONE, R/H FRONT HALF  (One per car) Latest strengthened (Series 2) specification. EACH € 77.87 A100C0150F

R/H TRIANGULATION LINK for T.C.A. EACH € 172.55 A100C0134S

L/H TRIANGULATION LINK for T.C.A. EACH € 172.55 A100C0135S

LOWER WISHBONE INNER BUSH EACH € 14.51 E100C6002F

PAIR of BUSHES for TRIANGULATION LINK on T.C.A. Polyurethane PAIR € 26.12 SJ100C0009

INNER PIVOT BUSHES for TCA   (PAIR) (Polyurethane) PAIR € 26.12 SJ100C0008

TOP WISHBONE, (trailing)  for USA models (Two per car) EACH € 13.27 B100C0115F

TOP WISHBONE, (R/H forward)  for USA Models EACH € 78.74 B100C0116F

TOP WISHBONE, (L/H forward)  for USA models EACH € 159.02 B100C0117F

BOLT M10 x 90, T.C.A. to BRACING STRUT EACH € 1.34 A100W7065F

BOLT M10 x 110, T.C.A. to BRACING STRUT EACH € 5.07 A100W7088F

TOP HAT INSERT, TOP WISHBONE STUD to RAFT EACH € 14.46 A100C0030H

M8 KAYLOCK NUT special nut for bolts, TCA to triangulation link. EACH € 1.84 SJ100W0001

BRACKET - LEFT HAND BRAKE HOSE to TOP WISHBONE EACH € 22.02 A100J0049F

BRACKET - RIGHT HAND BRAKE HOSE to TOP WISHBONE EACH € 22.02 A100J0050F

OUTTER RAFT MOUNTING PLATE EACH € 17.37 B100C0046F

Fuel system

Air filter trunking

Description Unit Retail price Part number

GROMMET, AIR PIPE tho INNER WING EACH € 14.58 SJ100L0001

AIR INTAKE HOSE,  AIR FILTER to AIR INTAKE NOZLE EACH € 25.72 C100E0039F

GROMMET, Air intake pipe through inner wing. EACH € 22.05 A100L0077F

Air filter, casings and elements

Description Unit Retail price Part number

AIR FILTER EACH € 17.79 SJ100E0001

INTERCOOLER Also known as a Chargecooler. EACH € 654.50 A100E6053F

ITG PERFORMANCE AIR FILTER ELEMENT EACH € 41.11 SJ100E0004

SUPPORT STRAP - AIR PIPE EACH € 5.95 B100E0044F

ADAPTOR - AIR FILTER EACH € 35.16 A100E0037F

O RING, AIR FILTER HOUSING to MOUNTING PLATE EACH € 1.19 A100E6138F

NOZZLE - AIR PICK UP EACH € 30.61 B100E0049F

AIR FILTER EACH € 31.51 A100E6273H

Filler caps

Description Unit Retail price Part number

FUEL FILLER CAP EACH € 13.10 A100L6013F

Page 44/55



SJ Sportscars Limited Parts and Accessories Price List

LATCH for FUEL FILLER DOOR EACH € 82.11 A082U6122F

EDGE STRIP METRE € 6.57 A085U6080V

Fuel filters

Description Unit Retail price Part number

FUEL FILTER EACH € 10.77 A910E6929F

O RING - FUEL FILTER to PIPE EACH € 0.54 A082L6169F

Fuel injection

Description Unit Retail price Part number

SCREW for THROTTLE POSITION SWITCH EACH € 0.69 A100E6435S

OXYGEN SENSOR, (For all models. when fitted) EACH € 57.12 A100E6024S

THOTTLE POSITION SWITCH EACH € 273.70 A100E6432S

INJECTOR EACH € 179.83 A100E6574S

INJECTOR RAIL EACH € 122.28 A100E6571S

KNOCK SENSOR for TURBO SE EACH € 94.01 A100E6319S

FUEL PRESSURE REGULATOR EACH € 105.91 A100E6572S

KNOCK SENSOR EACH € 70.56 C910E6937F

INJECTORS - SET of 4 Matched and up-rated set of four. SET of 4 € 534.31 SJ100E0023

SENSOR -  EXHAUST GAS TEMPERATURE for Japan only EACH € 45.11 A100E6276H

CLIP - FUEL INJECTOR (pack of 4) Set of 4 € 33.56 A100E6576S

INJECTOR WIRING CONNECTOR KIT KIT € 11.77 SJ100E0013

CHARCOAL CANISTER EACH € 71.16 A100L0036F

MEM-CAL (RE-CALIBRATE CO) Exchange € 203.89 A100E0097S

Fuel lines/hoses

Description Unit Retail price Part number

O RING - FUEL FILTER to PIPE EACH € 0.54 A082L6169F

FUEL PIPE. FILTER to ENGINE EACH € 44.98 A100L0130F

O RING - FUEL FEED and RETURN PIPES to PUMP EACH € 1.18 A100L6039S

PIPE KIT FUEL TANK REPLACEMENT EACH € 29.75 A100L0144S

Fuel pumps

Description Unit Retail price Part number

SPIRE CLIP for FUEL PUMP ACCESS COVER SCREWS EACH € 0.54 A100W6407F

FUEL PUMP EACH € 90.74 A100L6047S

SEAL RING,  PUMP to TANK EACH € 54.43 A100L0032F

LABEL - FUEL CUT OFF SWITCH EACH € 5.75 A082U7225F

O RING - FUEL FEED and RETURN PIPES to PUMP EACH € 1.18 A100L6039S

Petrol tanks

Description Unit Retail price Part number

CLAMP PLATE for FUEL FILLER NECK EACH € 19.42 B100L0086F

SEAL RING,  PUMP to TANK EACH € 54.43 A100L0032F

Page 45/55



SJ Sportscars Limited Parts and Accessories Price List

BOLT FUEL TANK STRAP to BODY EACH € 0.54 A100L6003F

GROMMET, Fuel filler hose through body. EACH € 22.05 A100L0077F

SEAL - FUEL FILLER NECK to BODY 2 per car. EACH € 6.97 B100L0085F

SCREW M4 x 20 for FUEL FILLER PLATE EACH € 0.86 A075W5081F

ROLL OVER VALVE EACH € 14.08 A075L6036F

HOSE CLIP for BREATHER PIPE EACH € 0.83 A100L6048F

HOSE CLIP - For fuel filler hose EACH € 0.77 A910E6389F

PIPE KIT FUEL TANK REPLACEMENT EACH € 29.75 A100L0144S

Throttle and choke cables

Description Unit Retail price Part number

THROTTLE CABLE for RHD EACH € 40.46 D100L0069F

THROTTLE CABLE for L/H/D EACH € 9.34 D100L0070F

Turbocharger

Description Unit Retail price Part number

TURBO BOOST SOLENOID VALVE EACH € 52.76 A100E6080F

INTERCOOLER Also known as a Chargecooler. EACH € 654.50 A100E6053F

RECONDITIONED TURBOCHARGER EXCHANGE € 648.55 SJ100E0003

GASKET, TURBO to EXHAUST MANIFOLD EACH € 20.98 A100E6096S

HOSE, TURBO COOLANT FEED PIPE to THERMOSTAT HOUSING EACH € 11.13 A100E6344S

GASKET, TURBO to WASTEGATE MANIFOLD EACH € 15.65 A100E6098S

GASKET, WASTEGATE HOUSING to STARTER-CAT EACH € 16.54 A100E6099S

STUD, TURBO to EXHAUST MANIFOLD EACH € 6.96 A100E6167S

NUT, TURBO to EXHAUST MANIFOLD EACH € 5.57 A100E6382S

GASKET, OIL DRAIN PIPE to TURBO EACH € 3.55 A100E6445S

NUT, STARTER-CAT to WAISTGATE HOUSING EACH € 2.21 A100E6456S

WATER FEED and RETURN PIPES to TURBO EACH € 117.81 B100E0017H

NUT, TURBO to WASTEGATE HOUSING Four per car. EACH € 2.36 A100E6439S

STUD 60mm, TURBO to WASTEGATE MANIFOLD One per car EACH € 5.18 A100E6438S

STUD 81mm, TURBO to WASTEGATE MANIFOLD One per car EACH € 6.25 A100E6437S

STUD 30mm, TURBO to WASTEGATE MANIFOLD Two per car EACH € 4.97 A100E6436S

HOSE, TURBO COOLANT RETURN EACH € 11.07 A100E6345S

SEALING WASHER for TURBO OIL FEED EACH € 1.13 A100F6250F

SOLENOID VALVE for BOOST and EGR CONTROL EACH € 29.95 A100L0047F

TURBO DRAIN HOSE   (Rubber section) EACH € 26.16 A100E6447S

SEALING WASHER - COOLANT FEED PIPE ASSEMBLY to TURBO EACH € 0.67 A100E6342S

BOLT, HEAT SHEILD FIXING EACH € 0.99 A100E6343S

90 deg VAC/BOOST PIPE UNION Fitted in the end of the boost gauge transducer on Turbo models. EACH € 3.36 A910E6772F

HOSE, TURBO to INTERCOOLER EACH € 34.74 A100E0045F

TURBOCHARGER AND WASTEGATE EACH € 830.62 A100E6127H

COPPER WASHER - for oil feed pipe to turbocharger. EACH € 1.06 A100F6250S

BOLT for TURBO DRAIN PIPE FIXING EACH € 3.40 A100E6446S

Page 46/55



SJ Sportscars Limited Parts and Accessories Price List

HOSE - BOOST SENSING EACH € 2.98 A100E6468S

HOSE - TURBO AIR INTAKE EACH € 43.36 A100E0032F

BANJO BOLT - OIL PIPE to TURBO EACH € 6.95 A100E6442S

Gearbox

Bearings

Description Unit Retail price Part number

DIFFERENTIAL BEARING   (Two per car) EACH € 33.49 A100F6265S

INPUT SHAFT BEARING R/H EACH € 37.44 A100F6150S

INPUT SHAFT BEARING L/H EACH € 63.40 A100F6199S

NEEDLE BEARING for 1st and 2nd GEARS EACH € 36.05 A100F6214S

NEEDLE BEARING for 3rd, 4th and 5th GEARS EACH € 40.19 A100F6157S

Gaskets and Oil seals

Description Unit Retail price Part number

INPUT SHAFT OIL SEAL EACH € 7.60 A100F6068S

GEARBOX OIL (MOBIL 1 SHC 75W90) LITRE € 14.03 SJ082F0017

DRIVESHAFT OIL SEAL EACH € 17.97 A100F6067S

O RING for GEARBOX OIL FILLER and DRAIN PLUGS EACH € 1.18 A100F6064S

O RING for SPEEDO DRIVE HOUSING EACH € 1.18 A100F6018F

END COVER GASKET EACH € 8.57 A100F6088S

GASKET, SELECTOR CONTROL BOX (Top of box) EACH € 5.66 A100F6096S

COPPER WASHER - for reverse idler shaft fixing bolt. EACH € 1.06 A100F6250S

Gear lever and linkage parts

Description Unit Retail price Part number

CIRCLIP for GEARCHANGE CABLES EACH € 2.15 A100F6291F

GEAR CHANGE CABLE, SELECT up to vin R 6001 EACH € 113.10 E100F0017F

GEAR CHANGE CABLE, CROSSGATE For Series 2 EACH € 407.15 A100F0031F

GEAR CHANGE CABLE, SHIFT For Series 2 EACH € 305.34 B100F0030F

SCREW GEAR LEVER CLAMP RING to BASE EACH € 0.54 A100F0027F

PIVOT PIN, CROSSGATE LEVER EACH € 11.26 A100F6114S

PIN, SHIFT CABLE to SHIFT LEVER (On gearbox) EACH € 10.69 A100F6043F

GROSS GATE LEVER (On gearbox) EACH € 19.31 A100F6112S

BUSH, CROSS GATE LEVER PIVOT Two per car. EACH € 5.47 A100F6113S

BRACKET, GEAR SHIFT ASSEMBLY to CHASSIS EACH € 61.12 B100F0014F

GEARCHANGE CABLE BRACKET (On Gearbox) (Series 2) These are required when fitting the

Series 2 cables to Series 1 cars.

EACH € 37.13 A100F0033F

REVERSE LAMP SWITCH EACH € 38.37 A100F6147S

SELECTOR CABLE PIN (on Gearbox) EACH € 11.77 A100F6045F

RETAINING CLIP, CROSS GATE LEVER PIVOT PIN EACH € 0.94 A100F6115S

Page 47/55



SJ Sportscars Limited Parts and Accessories Price List

FULL CABLE KIT for GEAR CHANGE for SERIES ONE KIT € 237.76 SJ100F0003

GEAR KNOB   (MOMO) EACH € 92.81 SJ100F0001

SPACER, GEAR LEVER MOUNTING BRAKET to CHASSIS EACH € 9.89 B100F0023F

BOLT - GEAR LEVER GAITER CLAMPING RING, to BASE EACH € 0.36 A100F0026F

WASHER - CROSSGATE CABLE to PIN EACH € 0.86 B082W4018F

Miscellaneous

Description Unit Retail price Part number

GEARBOX BREATHER EACH € 20.79 A100F6095S

SPEEDO DRIVE CABLE EACH € 42.15 A100N0001F

DRIVESHAFT OIL SEAL FITTING TOOL EACH € 53.32 T000T1004F

SWITCH for NEUTRAL EACH € 33.32 A100F6116S

SOCKET STUD for SPEEDO DRIVE CLAMPING EACH € 1.13 A100W7089F

GEARBOX FILLER PLUG EACH € 5.47 A100F6063S

PLATE for SPEEDO DRIVE FITTING EACH € 4.28 A100F6014F

GEARBOX DRAIN PLUG EACH € 7.68 A100F6065S

CLUTCH HOUSING EACH € 147.52 A100F6069S

Mountings

Description Unit Retail price Part number

GEARBOX MOUNTING RUBBER EACH € 47.31 SJ100E0017

Shafts and gears

Description Unit Retail price Part number

4th GEAR (On imput shaft) EACH € 271.44 A100F6156S

2nd GEAR (On output shaft) EACH € 136.85 A100F6213S

DRIVESHAFT SNAP RING (R/H end of centre shaft) EACH € 0.92 A100F6059F

DRIVESHAFT SNAP RING (End of L/H driveshaft) EACH € 0.68 A100R6001F

SPEEDO DRIVEN GEAR EACH € 34.97 A100F6015F

3rd GEAR (On imput shaft) EACH € 258.96 A100F6151S

SYNCRONISER ASSEMBLY 3rd and 4th GEARS EACH € 284.41 A100F6152S

SHIM OUTPUT SHAFT 2.36mm EACH € 4.13 A100F6234S

5th GEAR on INPUT SHAFT EACH € 272.06 A100F6200S

COPPER WASHER - for reverse idler shaft fixing bolt. EACH € 1.06 A100F6250S

THRUST WASHER for 1st GEAR EACH € 9.28 A100F6205S

Studs, nuts and bolts

Description Unit Retail price Part number

BOLT - FLYWHEEL COVER FIXING EACH € 4.37 A100F6052F

Synchroniser hubs and rings

Description Unit Retail price Part number

SYNCRONISER ASSEMBLY for 5th GEAR EACH € 441.62 A100F6240S

BAULK RING (SYNCRO CONE) for 1st & 2nd EACH € 130.32 A100F6210S

Page 48/55



SJ Sportscars Limited Parts and Accessories Price List

BAULK RING (SYNCRO CONE) for 3rd, 4th and 5th EACH € 140.41 A100F6155S

Ring-Outer 1st & 2nd EACH € 36.89 A100F6212S

Heater and Ventilation

Air conditioning

Description Unit Retail price Part number

DRIVE BELT for A/C COMPRESSOR and POWER STEERING PUMP EACH € 12.73 SJ100E0020

AIR CONDITIONING SWITCH EACH € 11.85 B100M6005F

FOAM GASKET, A/C DRIER to BRACKET EACH € 0.96 A100P0084F

A/C VALVE CAP, LOW PRESSURE for R134 SYSTEMS EACH € 1.01 SJ923

RECEIVER DRIER for EARLY MODELS EACH € 46.41 A100P0037F

BOLT - Condenser mounting brackets (Air bag models only) EACH € 0.68 A075W1007Z

SETSCREW - UPPER CONDENSER MOUNTING R134 ONLY EACH € 0.94 A075W1009Z

A/C CONDENSER for USA MODELS EACH € 157.19 B100P0097F

SWITCH-TRINARY EACH € 9.54 A100P0038F

R12 - R134 A/C CONVERSION KIT KIT € 82.11 SJ075P0005

Heater

Description Unit Retail price Part number

VACUUM RESOVOIR (inc non return valve) EACH € 25.16 A100P6018F

HEATER CONTROL VALVE EACH € 47.24 SJ100P0001

FOAM CONNECTOR, WHEEL ARCH DUCT to HEATER EACH € 9.32 A100P0096F

RESISTOR for HEATER BLOWER MOTOR EACH € 19.40 A100P6033S

SPIRE NUT No6 for Defrost vent fixings EACH € 0.45 A100W6420F

HEATER OUTLET VENT EACH € 14.88 A100P6010F

DOUBLE CLIP - VACUUM HOSES EACH € 1.18 A100W6418F

Heater controls

Description Unit Retail price Part number

VACUUM HOSE - BLACK 1987 High Compression models METRE € 14.99 A910E6786V

Hubs and Wheels

Center caps, trims and badges

Description Unit Retail price Part number

WHEEL CENTRE for BBS WHEELS (Lotus badge) Series 2 cars EACH € 35.12 A100G6029F

WHEEL CENTRE (LOTUS Green and Yellow) For OZ wheels, Series 1 cars EACH € 17.60 A082G6071F

WHEEL CENTRE for OZ WHEELS (SILVER) EACH € 9.95 A082G6046F

Hubs

Description Unit Retail price Part number

Page 49/55



SJ Sportscars Limited Parts and Accessories Price List

FRONT HUB EACH € 58.31 SJ100C0007

Miscellaneous

Description Unit Retail price Part number

LABEL-SPARE WHEEL USAGE EACH € 5.28 B100U0057F

TYRE VALVE (BBS Wheels) Series 2 with BBS wheels EACH € 4.17 A100G6032H

METAL VALVE CAPS    (Set of four) Set of 4 € 1.90 SJ695

SPARE WHEEL CLAMP EACH € 20.23 B100U0050F

BRACKET, SPARE WHEEL MOUNT EACH € 19.22 A100U0051F

LABEL SPARE WHEEL (50MPH) EACH € 1.06 A100U0406F

TYRE VALVE (Spare Wheel) EACH € 1.19 A100G6017H

BOLT- IN TYRE VALVE For Series One EACH € 4.17 A082G6027H

Stub axles

Description Unit Retail price Part number

REAR STUB AXLE (Not handed) OBSOLETE EACH € 85.68 SJ100D0004

Wheel bearings

Description Unit Retail price Part number

REAR WHEEL BEARING KIT KIT € 15.17 SJ100D0002

FRONT WHEEL BEARING EACH € 16.96 A100C6009F

REAR HUB SEAL EACH € 4.40 A100D6012F

REAR HUB BEARING DUST CAP EACH € 9.46 A100D6010F

FRONT WHEEL BEARING CIRCLIP EACH € 1.73 A100C6010F

REAR HUB WASHER (Between nut and bearing) EACH € 20.04 A100D6005F

FRONT HUB NUT EACH € 10.40 A100R6002F

Wheel spinners, studs & nuts

Description Unit Retail price Part number

WHEEL BOLT (OZ Wheels) EACH € 3.36 A100G6005F

WHEEL BOLT (BBS Wheels) EACH € 1.93 A100G6030F

LOCKING WHEEL NUT SET (OZ Wheels) SET € 14.28 SJ100G0002

Rear suspension

Ball joints

Description Unit Retail price Part number

M10 NYLOCK NUT ANTI ROLL BAR to BALL JOINTS EACH € 1.02 A100W3112F

BALL JOINT, REAR ANTI ROLL BAR to WISHBONE EACH € 41.65 A100D6024F

Bolts, nuts and fixings

Description Unit Retail price Part number

BOLT, TOP LINK to UPRIGHT EACH € 2.75 B079W2074F

Page 50/55



SJ Sportscars Limited Parts and Accessories Price List

STUD, OUTER WISHBONE to REAR UPRIGHT EACH € 91.70 C100D0044F

BOLT, ANTIROLL BAR to DROP LINKS AND LINK TO CHASSIS ON REAR EACH € 0.42 SJ075W0014

BOLT, REAR WISHBONE to CHASSIS (Rear end) EACH € 1.01 SJ075W0013

BOLT, REAR DAMPER to WISHBONE EACH € 0.64 A100D6022F

NYLOCK NUT Rear lower pin to wishbone. EACH € 1.15 A075W3069Z

BOLT, STUB AXLE to HUB CARRIER EACH € 3.14 A100D0056F

SNUBBER WASHER, 12 mm for WISHBONE BUSHES EACH € 4.83 A100D0037F

16 mm SNUBBER WASHER for WISHBONE WASHERS EACH € 4.52 A100D0039F

BOLT, REAR TOP LINK to CHASSIS EACH € 1.02 A100D6023F

FLAT WASHER - M10 EACH € 0.30 A075W4024Z

CAM/BOLT ADJUSTER for REAR CAMBER EACH € 17.73 C100D0033F

ADJUSTER BOLT for REAR WISHBONE EACH € 8.27 A100D0059F

BOLT - for CLAMPING CHANEL TYPE TOP WISHBONES EACH € 0.45 A075W2040Z

TOP DAMPER WASHER EACH € 3.88 A100C0151F

14 mm SNUBBER WASHER for WISHBONE BUSHES EACH € 4.52 A100D0038F

SPACING WASHER for REAR DAMPER LOWER FIXINGS EACH € 0.65 A075W4028Z

Bushes

Description Unit Retail price Part number

BUSH for REAR TOP LINK EACH € 10.98 B100D6018F

LOWER WISHBONE INNER BUSH (Rear end) EACH € 14.30 B100D6019F

LOWER WISHBONE INNER BUSH Forward mounting point EACH € 14.51 E100C6002F

REPLACEMENT BUSH for ANTI ROLL BAR DROP LINK EACH € 12.79 SJ100C0011

LOWER REAR DAMPER BUSH EACH € 51.38 A100D6020H

OUTER BUSH for LOWER WISHBONE EACH € 21.79 D100D6002F

Bushes (Polyurethane)

Description Unit Retail price Part number

REAR LOWER WISHBONE INNER BUSH SET (Polyurethane) Axle set € 49.98 SJ100D0006

REPLACEMENT BUSH for ANTI ROLL BAR DROP LINK EACH € 12.79 SJ100C0011

OUTER BUSH SET for REAR LOWER WISHBONES Axle set € 43.44 SJ100D0009

Dampers (adjustable)

Description Unit Retail price Part number

REAR DAMPER A top quality fully adjustable aluminium damper EACH € 130.40 SJ100D0001

GAITER for DAMPER ROD EACH € 23.21 A100C6013H

C SPANNER EACH € 37.13 SJ831

Dampers (standard)

Description Unit Retail price Part number

GAITER for DAMPER ROD EACH € 23.21 A100C6013H

TOP DAMPER WASHER EACH € 3.88 A100C0151F

REAR DAMPER for SERIES 1 EACH € 142.80 C100D6011H

Page 51/55



SJ Sportscars Limited Parts and Accessories Price List

LOWER REAR DAMPER BUSH EACH € 51.38 A100D6020H

Links and wishbones

Description Unit Retail price Part number

L/H LOWER WISHBONE inc BUSHES EACH € 465.29 A100D0087S

R/H LOWER WISHBONE inc BUSHES EACH € 465.29 A100D0088S

BALL JOINT, REAR ANTI ROLL BAR to WISHBONE EACH € 41.65 A100D6024F

REAR TOP LINK, ADJUSTABLE (Tubular type) The channel type links have been superseeded by

this tubular type.

EACH € 112.46 A100D0096J

TOP LINK ADJUSTER BOLT For tubular top links. EACH € 22.79 A082D6038F

LOWER WISHBONE INNER BUSH Forward mounting point EACH € 14.51 E100C6002F

LOWER WISHBONE INNER BUSH (Rear end) EACH € 14.30 B100D6019F

OUTER BUSH for LOWER WISHBONE EACH € 21.79 D100D6002F

BUSH for REAR TOP LINK EACH € 10.98 B100D6018F

CAM/BOLT ADJUSTER for REAR CAMBER EACH € 17.73 C100D0033F

CLIP, BRAKE PIPE to rear wishbone EACH € 0.80 A075J6027Z

ADJUSTER BOLT for REAR WISHBONE EACH € 8.27 A100D0059F

SPACER - 9.5 mm - TOP LINK to HUB CARRIER EACH € 18.56 A100D0080F

Miscellaneous

Description Unit Retail price Part number

M10 NYLOCK NUT EACH € 0.27 SJ501

Rear anti-roll-bar

Description Unit Retail price Part number

BALL JOINT, REAR ANTI ROLL BAR to WISHBONE EACH € 41.65 A100D6024F

ANTI ROLL BAR DROP LINK (Inc. bushes) EACH € 60.68 A100C6011F

REPLACEMENT BUSH for ANTI ROLL BAR DROP LINK EACH € 12.79 SJ100C0011

Rear hub carriers

Description Unit Retail price Part number

BOLT, STUB AXLE to HUB CARRIER EACH € 3.14 A100D0056F

SPIGGOT SLEEVE -  TOP LINK EACH € 15.74 A100D0081F

Springs

Description Unit Retail price Part number

REAR SPRING (All models) EACH € 50.58 B100D0071F

INSULATOR for TOP of SPRING, FRONT and REAR EACH € 10.50 A100C0038F

REAR SPRING (All models) EACH € 50.58 B100D0071F

Wheel Bearings

Description Unit Retail price Part number

REAR WHEEL BEARING KIT KIT € 15.17 SJ100D0002

REAR HUB SEAL EACH € 4.40 A100D6012F

Page 52/55



SJ Sportscars Limited Parts and Accessories Price List

REAR HUB BEARING DUST CAP EACH € 9.46 A100D6010F

REAR HUB NUT EACH € 4.37 A100D6007F

WHEEL BEARING GREASE 400g € 8.44 SJ688

REAR STUB AXLE (Not handed) OBSOLETE EACH € 85.68 SJ100D0004

REAR HUB WASHER (Between nut and bearing) EACH € 20.04 A100D6005F

Steering

Column couplings and universal joints

Description Unit Retail price Part number

LOWER COLUMN UNIVERSAL JOINT EACH € 23.67 B100H0050F

INTERMEDIATE SHAFT EACH € 17.85 A100H0058F

CLAMP BOLT - COLUMN JOINT EACH € 13.64 C082H4044F

THIN M8 NYLOCK NUT (T Type) for universal joint clamp bolts EACH € 0.82 A907E6284F

BOLT - PINCH BOLT for COLUMN COUPLING JOINTS EACH € 0.55 A075W2039D

Power steering components

Description Unit Retail price Part number

POWER STEERING PUMP DRIVE BELT (NO AIR CONDITIONING) EACH € 14.60 SJ100E0012

POWER STEERING PUMP (RECONDITIONED) EXCHANGE € 325.87 A100E6125F

POWER STEERING OIL LITRE € 11.60 SJ674

O RING for POWER STEERING PUMP OUTLET PIPE   (Lower) EACH € 0.77 A100E6542S

O RING for POWER STEERING PUMP OUTLET PIPE (Upper) EACH € 0.77 A100E6541S

HOSE, RESOVOIR to RACK for R/H/D We have now reproduced this long obsolete hose. EACH € 123.76 B100H0039F

HOSE, RESOVOIR to RACK for L/H/D EACH € 105.91 C100H0036F

SEAL KIT for POWER STERING RACK KIT € 118.85 A100H6023S

SEAL for PINION HOUSING EACH € 7.81 A100H6030S

STEERING RACK for L/H/D    (Reconditioned) Exchange € 458.15 F100H0003F

HOSE, PUMP to RACK (RHD) EACH € 165.41 B100H0038F

POWER STEERING HOSE, RESOVOIR to PUMP EACH € 198.35 E100H0040F

RETAINING BAND - POWER STEERING PIPE to CHASSIS EACH € 0.80 A100W6411F

POWER STEERING PUMP DRIVE BELT (No air con) (Lotus) EACH € 115.74 A100E6131F

DRIVE BELT for A/C COMPRESSOR and POWER STEERING PUMP EACH € 12.73 SJ100E0020

CLAMP - POWER STEERING PIPE to CHASSIS EACH € 1.01 A100W6412F

O RING - HIGH PRESSURE PIPE to RACK EACH € 1.17 A100H6060S

O RING - LOW PRESSURE PIPE to RACK EACH € 1.17 A100H6059S

BOLT - Reservoir pipe clip fixing. EACH € 0.62 A075W2041Z

TURRET NUT - HIGH PRESSURE PIPE to PUMP EACH € 8.14 A100W3111F

HOSE PUMP to RACK for L/H/D with AIR BAG FITTED EACH € 49.97 A100H0054F

SCREW - PUMP HOSE BRACKET to ENGINE MOUNTING EACH € 0.64 A075W5079F

POWER STEERING RESERVOIR EACH € 34.50 A100E6137F

Page 53/55



SJ Sportscars Limited Parts and Accessories Price List

Steering Column

Description Unit Retail price Part number

STEERING COLUMN LOCK and IGNITION SWITCH - R/H/D For Series One R/H/D EACH € 52.11 A100H6022F

STUD PLATE for STEERING COLUMN INFIL    L/H/D EACH € 30.96 A100U0223F

STEERING COLUMN LOCK only for L/H/D models with air bag fitted. EACH € 58.31 A082H4046F

BEARING for TOP of STEERING COLUMN EACH € 10.19 A100H6007F

SHEAR BOLT for STEERING LOCK EACH € 9.71 C082H4045F

GRUB SCREW for STEERING COLUMN LOCK EACH € 2.96 A082H6041F

WASHER - PLAIN For column height adjustment. EACH € 0.73 A100H6047S

WASHER - PLAIN For column height adjustment. EACH € 0.73 A100H6047S

PUSH NUT For column height adjustment. EACH € 0.73 A100H6046S

STOPPER - ADJUSTMENT For column height adjustment. EACH € 1.00 A100H6045S

BOLT - ADJUSTER CLIP For column height adjustment. EACH € 4.02 A100H6044S

CLAMP BRACKET - COLUMN EACH € 81.42 A100H6042S

SADDLE, COLUMN SHROUD to STEERING COLUMN EACH € 12.39 B100V0291K

SCREW M4 X 8 PAN POZI saddle to steering column EACH € 0.70 A100W5137F

STEERING COUMN SHROUD SUPPORT STUD (Long) EACH € 33.42 A100U0280F

SCREW M4 x 12 PAN HEAD LOWER COLUMN SHROUD to SPACING STUDS EACH € 1.18 A100W5143F

SPRING WASHER M4 Saddle to steering column EACH € 0.60 A075W4088F

STUD - COLUMN SHROUD - SHORT EACH € 7.14 A100U0279F

STEERING WHEEL NUT EACH € 0.93 A082H4036F

RUBBER STOP for COLUMN ADJUSTMENT LEVER EACH € 0.60 A100A6013F

CUSHION RUBBER - STEERING COLUMN TOP BEARING FIXING EACH € 6.64 A100H6008F

RUBBER GROMMET AROUND STEERING LOCK EACH € 2.08 B100V6061F

HORN CONTACT PIN EACH € 9.46 A100H6013F

INDICATOR SELF CANCEL BUSH for MODELS WITH AIR BAG EACH € 5.66 B082M4848F

Steering locks

Description Unit Retail price Part number

STEERING LOCK, BARREL and  KEY All models EACH € 66.64 A082H6039H

STEERING COLUMN LOCK and IGNITION SWITCH - L/H/D EACH € 35.26 A100H6051F

KEY BLANK for SERIES TWO - DOOR and IGNITION EACH € 4.63 SJ100U0003

SHEAR BOLT for STEERING LOCK EACH € 9.71 C082H4045F

GRUB SCREW for STEERING COLUMN LOCK EACH € 2.96 A082H6041F

Steering rack gaiters and mountings

Description Unit Retail price Part number

STEERING RACK GAITER KIT  (Late cars, 46 mm diameter rack) PAIR € 14.96 B100H6031S

Steering racks

Description Unit Retail price Part number

STEERING RACK for L/H/D    (Reconditioned) Exchange € 458.15 F100H0003F

Page 54/55



SJ Sportscars Limited Parts and Accessories Price List

RECONDITIONED STEERING RACK EXCHANGE € 458.15 SJ100H0002

BOLT - STEERING RACK to CHASSIS (M12 x 90) EACH € 4.05 B100H6015F

STEERING RACK MOUNTING BOLT Passenger side EACH € 3.57 B100H6016F

Steering wheels

Description Unit Retail price Part number

STEERING WHEEL NUT EACH € 0.93 A082H4036F

STEERING WHEEL CENTRE BADGE For Series 2 only. EACH € 56.79 A111H6023H

SCREW - HORN RING to BOSS EACH € 1.64 A082H6057H

Track rod ends

Description Unit Retail price Part number

DOMED NUT for TRACK ROD END EACH € 5.62 A100H6025S

TRACK ROD END EACH € 30.35 SJ100H0003

Page 55/55


